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Answer all questions
Question 1
Globalisation and the Economy
Extract 1: Too many immigrants, too quickly

The story of Brexit is a complex one, but one thread may be familiar to some developed
countries today, including Singapore: too many immigrants, too quickly. As the European
Union (EU) expanded in 2004 from 15 member states to include 10 more countries - mostly
poorer ones from Eastern Europe - then Prime Minister Tony Blair opened Britain’s doors to
job seekers from these countries. Free to move to Britain to work, many from the new EU
countries did, attracted by the prospect of better jobs or higher pay than back home. Some
parts of Britain’s working class felt the competition and the squeeze. Much of the fury of the
‘Leave’ campaigners focused around accusations that EU migrants were taking British jobs
and depressing wages. Meanwhile, the big businesses and their consumers are gaining
from this flow of cheap labour.

Perhaps Britain had not fully considered the evolving ramifications of EU membership and
the allowing of sudden mass movement of populations to an island nation. One pressure
from mass movement is how immigration is changing the identity of the country and putting
pressure on services like the National Health Service. The undoubtable truth is that
developed countries need to find better strategies to manage the impacts of migration and
promote integration. .

Source: The Straits Times, July 2016

Figure 1: Labour flow into the United Kingdom (UK), 2006 — 2015p (provisional)
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Extract 2: Will globalisation make everyone better off?

Globalisation has made the planet more equal. As communication gets cheaper and
transport gets faster, developing countries have closed the gap with their rich-world
counterparts. Basic theory predicts that inequality falls when developing countries enter
global markets, especially in the exchange of goods and services. With a larger proportion
of their labour force being unskilled, this means that developing countries tend to produce
~goods that require labour-intensive processes. This increases their trade and thus,
- increases their wages. But the high inequality seen today in poor countries is prompting
~new theories. One emphasizes the recent pattern of outsourcing which deviates from the
“usual practice of creating low-value jobs overseas — rich countries are increasingly shifting
“parts of the high-value production process to poor countries, creating a larger demand for
skilled labour as compared to unskilled labour in the developing countries.

-~ Similarly, in developed countries the heavy costs to industries exposed to cheaper foreign
"imports offset most of the benefits to consumers and to firms in less vulnerable industries.
Economists’ assumption that workers would easily adjust to the upheaval of globalisation
seems to have been misplaced. Manufacturing activity tends to be geographically
concentrated. So the disruption caused by cheaper imports from developing countries was
similarly concentrated, in certain hubs of the developed countries. The displaced workers
were neither absorbed in the region due to a lack of growing industries, nor were they
willing to look for jobs in other prosperous regions.

Immigration and jobs were hot-button issues in Singapore’'s general election in 2011. The
- public anger seen then was partly a response to the surge in foreign workers, due to a
generous foreign worker policy in the boom years of 2004 to 2007. Deputy Prime Minister
Tharman said: "The politics of the centre must stay connected to the challenges that
ordinary people face - and address their need for jobs and security, and a balance in
immigration that preserves a sense of identity.” Tackling this without turning inward, and
weakening jobs and society further, is the central challenge everywhere.

Sources: Adapted from The Economist, 2014 and The Straits Times, 2016

Extract 3: The economic impact of sharing economy platforms

. The ‘sharing economy’ matches people who want to share assets online. Such
convenience may come at cost for the traditional economy. Providers of traditional
economy might see profits shrink due to the drop in demand and may even be driven out of
the market. However the costs and benefits associated with sharing economy platforms
"~ depend on the business models in place.

One such ‘sharing economy’ platform is Uber which is one of the fastest growing start-ups
worldwide. Taxi industries tend to be heavily regulated by the governments in order to
ensure safety and quality standards. Uber, founded in the United States, used the sharing
economy platform to circumvent these regulations by allowing private car owners to
become ad-hoc taxi drivers. Furthermore, with countries becoming increasingly connected,
Uber has found it easy to succeed commercially in many other countries as well, reducing
the market share of the traditional taxi drivers. Uber's success can be attributed to the
passengers who prefer diversity in payment options and for lowering their transportation
cost. As a result, the incumbent taxi service providers are facing a crisis. Some taxi drivers
in Canada complained losing business to the relatively cheap Uber services. Additionally,
the government is concerned about drivers not declaring or paying taxes on their income.
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In other businesses, homeowners internationally have earned extra cash by using another
popular sharing service, Airbnb. Since the recession, more and more people have been
looking for economical alternatives, increasing the demand for Airbnb. Likewise, the
recession pushed significantly more segments of the American workforce into positions
where they must string together pari-time gigs and find alternative ways to bring in income.
The leading businesses that are advancing the concept of the “sharing economy” are in
many aspects no longer insurgents and newcomers.

The ‘sharing economy’ has managed to capture the market through great apps, social
media marketing and aggressive links to the asset owners who are attracted by the minimal
requirements to work for the likes of Uber and Airbnb. With the economic power of these
technology-driven firms growing, there needs to be considerations as to whether regulation
is needed.

Source: Adapted from Time, November 2014

Questions
(a) Describe the trend of labour flow from EU countries into the UK between 2006
and 2014. (2]

(b) (i) Explain why poor countries tend to specialise in and export goods that require
large amounts of unskilled labour. 2]

(i) Discuss if globalisation will always be beneficial for workers in different countries.

(8]

¢ (i) What can you conclude about the income elasticity of demand for the services

offered by Airbnb? [2]

(i) Using economic analysis, explain the impact of the recession on the market for
Airbnb. [4]

d) Explain one possible impact of globalisation on the level of competition in the
market for transport. [2]

e) Discuss the factors that determine the need for regulation of the growing
1, technology-driven firms in the ‘sharing economy’. [10]
[Total: 30]
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Question 2
Qil and the Venezuelan Economy
Extract 4: Venezuela, a nation in a state

Under the watch of Venezuela’s president, the nation has entered a steep decline. A global
oil boom, which provided money to lavish on Venezuela's once neglected poor, is over.

+3 Venezuela sits on the world's largest proven oil reserves. Oil makes up 96% of the

=" country’s export earnings and 25% of its GDP. The government's income from oil in the

- year to November 2015 was two-thirds lower than during the same period the year before.

= The oil price has fallen further since then. With less money coming in and demand for
imports still strong, the value of Venezuela's foreign-exchange reserves has dropped
alarmingly.

The current oil slump would be painful, whoever was in power. The regime has greatly
compounded the damage with policies that, though designed to favour the poor, end up
impoverishing them and the state. Price controls have led to acute shortages of basic

#: goods, forcing people to queue for hours to buy necessities. Although the official price of

goods is correspondingly cheap, many are available only at inflated prices in the black
market.

Inflation is officially running at 121.7% last year. Analysts believe the true figure is at least
200% a year; some predict hyperinflation in 2016 as the Central Bank continues to print
money to finance the massive budget deficit.

Source: Adapted from Time, December 2015 and The Economist, February 2016

Figure 2: Venezuelan money supply Figure 3: Venezuelan bolivar per
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Table 1: Venezuela: Selected economic indicators 2011 — 2015

Economic Indicators 2011 2012 | 2013 | 2014 | 2015

Gross Domestic Product (GDP) Growth 4.2 5.6 1.3 -3.9 5.7
(annual %)

Exports of goods and services (% of GDP) | 29.9 | 26.2 24.8 - -

Imports of goods and services (% of GDP) | 19.7 | 24.2 29.5 - -

Gross capital formation (% of GDP) 231 266 | 27.3 - -
Inflation, consumer prices (annual %) 26.1 21.1 40.6 62.2 11217
Unemployment, total (% of total labour 8.3 8.1 75 8.6 -
force) -

Source: World Bank, July 2016
Extract 5: Qil price plunge continues |

The price of oil continued its precipitous fall on Friday, hitting five-and-a-half-year lows after
the International Energy Agency (IEA) predicted demand next year would be lower than
expected.

The oil price has plummeted in response to a massive build-up of shale-derived oil in the
US, reduced fears of fighting in Iraq disrupting supplies, and slower growth in demand as
the world economy falters. The IEA warned: “The resulting downward price pressure would
raise the risk of social instability or financial difficulties if producers found it difficult to pay
back debt.”

The Paris-based IEA singled out oil-producing countries such as Russia and Venezuela as
potential flashpoints for trouble and the warning came as the rouble, which has lost 40% in
value against the dollar so far this year, hit a fresh record low. One dollar now buys more
than 57 roubles, compared with 35 in the summer.

But while the oil-producing countries face lost revenues and budget shortfalls, lower energy
prices are expected to have a beneficial impact on the world economy.

Many countries, particularly in Asia, are desperately dependent on foreign oil and gas
imports, so cheaper prices should cut inflation and give impetus to manufacturing output
and consumer spending. Analysts at investment bank ING said: “The recent fall in oil prices
may not be sustained but, in the meantime, it provides a very welcome boost to real
incomes for most major economies.”

Lower energy prices will cause havoc in the UK North Sea, where companies such
as BP and Shell are cutting jobs at a time when exploration levels have already dropped to
very low levels. “

But households will welcome the falling gas price cutting heating bilis, while motorists will
be glad of lower costs at the pump. High home and transport costs are a big influence on
inflation and affect the production and distribution of food and other items.

There are strong signs in the US that lower energy prices are having a big effect on

consumer spending with store and restaurant sales rising by 5% in November against the
same month the previous year.
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Tom Kloza, co-founder of the US-based Qil Price Information Service, has warned that the
world could be heading for $45 per barrel oil, although he maintained that this kind of price
was not sustainable long term.

Source: The Guardian, December 2014
Extract 6: The true cost of oil production

_”tyEv'ery link in the chain of oil production, from exploration through consumption, generates
profound damage to the local environment and communities. As the industry moves
towards increasingly risky forms of fossil fuel production, the impacts become more
“pronounced.

A notable Harvard Medical School study identifies impacts from many aspects of oil
production. Exploration for new oil and gas often brings seismic explosions and the clearing
of huge swaths of forest; drilling produces toxic drilling muds and waste waters; olil
extraction still often results in routine gas flaring at the point of extraction. Oil transport
greates additional hazards, as oil spills from pipelines, tankers and tank farms are still
routine, despite industry claims of safety measures.

Source: Adapted from Oil Change International, April 2014
Questions

(@) (i) Using Table 1, describe the trend of Venezuela’s general price level between

2011 and 2015. [1

(i) Explain the statement: ‘Although the official price of goods is correspondingly
cheap, many are available only at inflated prices in the black market’. [3]

b) Explain the inefficiency in resource allocation in the market for oil. [4]
(© Explain how the change depicted in Figure 2 may have led to the outcome in
Figure 3. : : [4]

(d) Given the challenges in the oil exporting market, discuss if Venezuela should'
respond by being less globalised. [8]
{e) Assess whether, on balance, lower oil prices can be beneficial. | [10]
[Total: 30]
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Paper 1 — Case Study Questions
Question 1

Globalisation and the Economy
Extract 1: Too many immigrants, too quickly

The story of Brexit is a complex one, but one thread may be familiar to some developed
countries today, including Singapore: too many immigrants, too quickly. As the European
Union (EU) expanded in 2004 from 15 member states to include 10 more countries - mostly
poorer ones from Eastern Europe - then Prime Minister Tony Blair opened Britain's doors to
job seekers from these countries. Free to move to Britain to work, many from the new EU
countries did, attracted by the prospect of better jobs or higher pay than back home. Some
parts of Britain’s working class felt the competition and the squeeze. Much of the fury of the
‘Leave’ campaigners focused around accusations that EU migrants were taking British jobs
and depressing wages. Meanwhile, the big businesses and their consumers are gaining from
this flow of cheap labour.

Perhaps Britain had not fully considered the evolving ramifications of EU membership and
the allowing of sudden mass movement of populations to an island nation. One pressure
from mass movement is how immigration is changing the identity of the country and putting
pressure on services like the National Health Service. The undoubtable truth is that
developed countries need to find better strategies to manage the impacts of migration and
promote integration.

Source: The Straits Times, July 2016

Figure 1: Labour flow into the United Kingdom (UK), 2006 — 2015p (provisional)
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Extract 2: Will globalisation make everyone better off?

Globalisation has made the planet more equal. As communication gets cheaper and
transport gets faster, developing countries have closed the gap with their rich-world
counterparts. Basic theory predicts that inequality falls when developing countries enter
global markets, especially in the exchange of goods and services. With a larger proportion of
their labour force being unskilled, this means that developing countries tend to produce
--goods that require labour-intensive processes. Thrs’“lncreases their trade and thus, increases
“their wages. But the high inequality seen today.ii r countries is prompting new theories.
“One emphasizes the recent pattern of outsourcing which deviates from the usual practice of
“creating low-value jobs overseas — rich coul e increasingly shifting parts of the high-
value production process to poor countries; atir g a larger demand for skililed labour as
compared to unskilled labour in the developrng cot 'ntrres

Similarly, in developed countries the heavy costs to industries exposed to cheaper foreign
imports offset most of the benefits to consumers and to firms in less vulnerable industries.
Economists’ assumption that workers: "ould easrly adjust to the upheaval of globalisation
seems to have been misplaced. Ma uf‘actunng activity tends to be geographically
concentrated. So the disruption caused: by ccheaper imports from developing countries was
similarly concentrated, in certain hubs, of the developed countries. The displaced workers
were neither absorbed in the region due _‘to, a lack of growing industries, nor were they willing
to look for jobs in other prosperous regions.

Immigration and jobs were hot-button issues in Singapore’s general election in 2011. The
public anger seen then was partly a response to the surge in foreign workers, due to a
generous foreign worker policy in the boom years of 2004 to 2007. Deputy Prime Minister
Tharman said: "The politics of the centre must stay connected to the challenges that
ordinary people face - and address their need for jobs and security, and a balance in
immigration that preserves a sense of identity." Tackling this without turning inward, and
weakening jobs and society further, is the central challenge everywhere.

Sources: Adapted from The Economist, 2014 and The Straits Times, 2016

Extract 3: The economic impact of sharing economy platforms

online. Such convenience
ional economy might see
out of the market. However
ms depend on the business

The :-»‘-‘shanng economy matches people who 'want,,to share a
ome at cost for the traditional economy Provrders_
shnnk due to the drop in demand and- may even be.dr
s and benefits associated with sharrng economy pIa
models in place. :

One such ‘sharing economy’ platform is Uber whrch is one: of'“he fastest growing start-ups
worldwide. Taxi industries tend to be heavily regulated b governments in order to
ensure safety and quality standards. Uber,. founded in the Un d‘S_t_ates used the sharing
economy.-platform to circumvent these regulatrons by allowing 'prlvate' .car.owners to become
ad-hoc taxi: drrvers Furthermore with countries becoming rncreasrngly connected ‘Uber has
found it easy to’ suéceed commercially in many oother countries as well, reducing the market
share of the traditional taxi drivers. Uber’s success can be attributed to the passengers who
prefer diversity in payment options and:for lowering their transportation cost. As a result, the
incumbent taxi service providers are a crisis. Some taxi drivers in Canada complained
losing business to the relatively cheap Uber services. Additionally, the government is
concerned about drivers not declaring or paying taxes on their income.
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in other businesses, homeowners internationally have earned extra cash by using another
popular sharing service, Airbnb. Since the recession, more and more people have been
icoking for economical alternatives, increasing the demand for Airbnb. Likewise, the
recession pushed significantly more segments of the American workforce into positions
where they must string together part-time gigs and find alternative ways to bring in income.
The leading businesses that are advancing the concept of the “sharing economy” are in
many aspects no longer insurgents and newcomers.

The 'sharing economy’ has managed to capture th" market through great apps, social media
marketing and aggressive links to the asset.owpers who are attracted by the minimal
'L,quaremer'ts to work for the likes of Uber an b. With the economic power of these

hnology-driven firms growing, there needs'to nsiderations as to whether regulation
3 nepdef‘ S

S}V'o,ur;ce: Adapted from Time, November 2014

Questions
(&) Describe the trend of Iabour ﬂow from EU countries into the UK between 2006
and 2014. S , (2]

(b} (i) Explain why poor countries tend to specialise in and export goods that require
large amounts of unskilled labour. [2]

{ity Discuss if globalisation will always be beneficial for workers in different countries.

(8]

What can you conclude about the income elasticity of demand for the services
offered by Airbnb? [2]

«
o

iy Using economic analysis, explain the impact of the recession on the market for
Airbnb. - [4]

dj Explaln one possnble lmpact of globahsatlon on the level of competmon in: the
market for transport. [2]-

a) Discuss the factors that determlne the need fi ation of the growing
technology-driven firms in the sharmg economy [10]
[Total: 30]
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Suggested Answers

a)

“ bi)

Describe the trend of labour flow into from EU countries to the UK
between 2004 and 2014.

Answer
Labour flow from EU countries is generally increasing. (1m)
There was a dip between 2008 and 2009 from the EU countries. OR sharp

- increase from 2012-2014 (1m)

Explain why poor countries tend to specla'ze in and export goods that
require large amounts of unskilled labour :

Answer o

According to the theory of comparatlve advantage countries should specialise
and trade in goods and services in whlchi they have lower opportunity cost of
production. (1m) P :

Developing countries are usuall' "well endowed with low skilled workers and
have a lower opportunity cost in ’roducmg goods that require lower skills. As
seen in extract 2, “with a larger'p ,opomon of their labour force being unskilled,
this means_that developing countrles tend to produce goods that requ:re
labour-intensive processes”-(1m): -

Discuss if globalisation will always be beneficial for workers in different
countries.

Answer

introduction
Globalisation refers to the increasing integration and interdependence of the
world’s economies arising from increased trade and increased international
mobility of factors of production such as labour, capital and enterprise.
Traditionally, |nternat|onal movement of labour has always been moving from

;qunte hard to gauge
tegonsed in terms of

'_Wlth globalisation and increasing integ ation of the countrles in terms of trade,
. -‘demand for goods produced_ by develeplng countries is’ lncreasmg as well. ThlS

countries enter global markets, esp
services”. ‘T hlS evidence shows hat

mentioned in b i), these countries tend to focus on production of goods that
require low skilled workers, thus, demand for such low skilled workers would
rise. This will lead to a rise in wage rates for the low skilled workers in the

developung countries, thereby benefitting them.

e Q720101 IDvaahirmme IO010 Aark Crhomo
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( ovement of
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[2]

[sl



Better job opportunities.

With the technology driven globalisation, as developed countries outsource
part of their production processes to the developing countries as they offer
lower cost of production, there will be creation of more and newer jobs in the
developing countries. This is seen from the evidence in extract 2, “the recent
pattern of outsourcing which deviates from the usual practice of creating low-
value jobs overseas — rich countries are mcreasmgly shifting parts of the high-
value production process to poor countries” ..

1y benefit from

In the developed countries, skilled Ia _
ountries, developed countries

By similar argument as the one for de\
will tend to specialise in goods and:se
As a result, demand for such laboul

Developed countries would al
outsourcing. As the developi
relocating parts of the product
large resource base which lov
countries. This helps them to sus
growth.

(Any other relevant advantages for‘developlng or developed countries will be
accepted. However, for the analysis; of the developing countries it is advised
that the students use the arguments-they have evidence for).

Anti-Thesis: globalisation may not be beneficial for the labour in some

countries

Although outsourcing has created job opportunities in developing countries,
these opportunities often benefit only a privileged minority- those with relatively
higher skills. This is because the developed countries specialise in high skilled
production processes, thus they demand workers who can match up to those
skills. ThIS means: that the wage rates; of .the hi i vorkers-increase

countrles This problem is faced by d‘ veloped countries like: Smgapore where.

job security has become a real iss or:the local workers. This is seen:from
the evidence in extract 2, “The politics of the centre must stay connected to the
challenges that ordinary people face:-.and address their need for jobs and
security..”. The increased competition for employment from the developing
countries also leads to more job seekers competing for the same jobs, thereby
depressing wage rates for the workers in the developed countries.

Moreover, with globalisation and increased trade, as the developed countries
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- Whether globalisation benefits the worke

become more open to the cheaper imports from developing countries, many
industries which are in direct competition with those goods and services tend to
lose out in terms of cost advantages. These industries are notably low-skilled.
As such industries start scaling down, many low skilled workers in those
industries get displaced and suffer from rising unemployment and fall in income
levels. Due to occupational and sometimes, geographical immobility (especially
in the large economies) of these workers they cannot move to the industries
where the demand for labour is still relatlvely hlgh or increasing. As a result,
they may lose skills over time. :

Synthesis: o
epends on which sectors are
ed. Generally, the high skilled
‘benefit based on the evidence
vt. policies adopted to balance

workers are at and in which country
workers in both types of countries:
available. However, it also depends ol ‘
out the income levels for different type vorkers and in different countries.
For example, govt. in the developing intries may impose higher income
taxes on the high skilled workers and \-transfer it to the low skilled workers in
terms of social benefits. Similarly govt in the developed countries may focus
on using supply side policies to.improve job security of the local workers by
enhancing the occupational moblllty of the workers and improving their
productivity.

L2:4-6 Well-balanced answer that considers different types of labour in
. different types of countries. The answer analyses the impact of
globalisation on labour (which also includes international trade
and not just labour flow between countries). Must use extract
evidence in order to access higher marks.

L1:1-3 Answer is fargely one-sided with some occasional flaws. The
answer does not show different types of labour or different types
of countries in the analysis.

‘Makes a well justified stand

Makes a stand 3

n the income elastlclty of de' ahd for the servnces offered by

swer

Dis negatlve or YED <O (1m), j '
act 3: “since the recession, more: and more peo
onomlcal alternatives, increasing the demand for A
omes fall, demand rises indicating that they are in
h-a negative YED value. (1m) T

have been looking for
B. This means that as
rior goods, consistent

No need to deflne YED. No need to state lnfenor goods to get the second mark

Usmg economic analysns explain- the lmpact of the recession on the
market for AirBnB.

Answer

Recession has led to a rise in demand for services offered by AirBnB. This is
because these are deemed to be inferior goods. As shown in extract, “Since
the recession, more and more people have been looking for economical
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d)

X technology to help private car owners to use their
~ likewise Airbnb has allowed homeowners to
v ”:accommodatlon to travelers.

‘ 'However the economic power of the above type
- question of need for regulation. This. essay will dis

‘Equity, Safety and Consumer choice.

alternatives, increasing the demand for Airbnb” , the options offered by AirBnb
are considered to be more value for money as compared to normal hotels. This
is shown by a rightward shift of the demand curve from DO to D1. [1]

Recession has also led to a rise in supply due to an increase in number of
suppliers of economical accommodation as more individuals are looking for
part time options of earning income. This is seen from the extract which says,
‘the recession pushed significantly more segments of the American workforce
into_positions where they must_string together part-time gigs and _find
alternative ways to bring in_income”. ThlS _leads to a rightward shift of the
supply curve from S0 to S1. [1] ,

Diagram [1]

ImpactonPand Q[1] P is mdetermlnate; s _conclusnon or a specific outcome
based on the extent of shift of DD/SS as pv explanatlon

Alternative: :

Up to 3m for both DDSS expl na
indeterminate OR to state WhICh
shift.(no need to proof) -

Iast mark to acknowledge that P is
the outcome based on the extent of

Explain one possibie impact of?ﬁlgo'balisation on the level of competition
in the market for transport.

Answer

Globalisation - More firms enter(1m)

Increase competition and reduces market power of the traditional taxi drivers
- Extract 3: Uber has reduces the market share of the traditional taxi drivers
(1m)

Discuss the factors that determine the need for regulation for the growing
technology-driven firms in the ‘sharing economy’.

' ‘ ; Introductlon -
The shanng economy as the extract explalns matches .people who want to
share'assets online. Examples of which: are Uber a irbnb. Uber uses
axi services and
out their private

has raised the
al factors which

would determine the need for regulation e.g. Efficie ative Efficiency),

Body

[2]

[10]

Thesns There are factors that 1ust|fy the need for reilatlon of the~ j '

sharing economy.

Paragraph 1(Possibility of inefficiencies) -

As seen in extract 3, ‘Uber has found it easy to succeed commercially in many

other countries as well, reducing the market share of the traditional taxi

drivers.’ This point to the possibility of Uber gaining such a large market share

over time that would make it the dominant firm as far as provision of taxi

services are concerned. Monopoly power leads to the possibility of allocative
9732/01/Prelims /2016 Mark Scheme




inefficiency.

A monopoly will have high degree of market power and is able to restrict output
or raise prices to maximize their profits.

Price/ Costs A Figure 1
/ Revenue
MC (=SS under Perfect
ompetition)
(ST RO, VSR
PP ................................
~ AR=DD
MCm FeeeemeeesNGoeemereess
» Quantity

O

Equilibrium of the Industry unde PC industry and Monopoly
(assuming same DD & cost conditic

Assume similar demand and cost conditions in both market structures. For
example, suppose some taxi firms initially operate under perfect competition,
but subsequently the entrance of Uber drives out most firms and thus Uber
acts as a monopoly supplier. Assuming the production costs would not have
changed, given that it is the same taxi services as before.

As a monopolist, the profit maximising monopolist would produce at Qm and Pm
where MC cuts MR from below. Thus, the price charged is higher than the
marginal cost of production (Pm>MC)

_‘re This leads to

ces in the most
ctor of allocative
echnology-driven

" Paragraph 2(Possibility of inequity) -
v Eqmty deals with the notlon of falrn‘

ome and wealth.
qcient, theyv

dlstnbutlon of income tends to be wndely spread. However as seen in extract 3
due to the entrance of sharing economy firms, “Providers of traditional
economy might see profits shrink due to the drop in demand and may even be
driven out of the market.” This will mean profits are likely to be enjoyed by a

B Q7201 1IDralirme 2040 Mark QRrheamae



10

small group of shareholders of one firm at the expense of a large group of
traditional firms, aggravating inequity.

Paragraph 3 (Other problems for the economy)

The other concerns that may lead to a need for regulation would be that the
sharing economy asset holders are not paying taxes on their earnings. E.g in
extract 3 “The government is concerned about drivers not declaring or paying
taxes on their income.” This will lead a loss in potential government revenue
that could have been used for development of infrastructure or provision of
merit goods such as education and healthca

verely compromised in the new
technology to circumvent these
to be heavily regulated by the
ity standards. Uber, founded in
3CoNC my platform to circumvent these
' l,to become ad-hoc taxi drivers.”

Finally safety and quality standards may be
sharing economy as they have manag
regulations. In extract 3, “Taxi indust
governments in order to ensure safet
the United States, used the shari
regulations by allowing private car ow

Anti-Thesis: Certain factors mavnot lead to the need for requlation for
the growing technology-driven ﬁ'rm§ in the ‘sharing economy

Paragraph 4 (L ower Prices)

Despite the earlier disadvantages that may justify the need for regulation,
technology-driven firms in the shared economy can have some advantages.
This new business model allows for the industry to operate on low levels of
costs as the assets are already available via the asset providers e.g. private
cars and homes or apartments that asset providers live in. Furthermore the
operating costs are also lower than the traditional firms as most of the business
is run on technology e.g. apps and social media marketing.

The consumers would benefit if the lower costs are translated into cheaper
goods. This seems to be the reallty in the case of Uber as in extract 3 “Uber's
‘be. attnbuted to. lowenn eir transportatlon costs '

For::thei above reasons,. it. may be in. the socmtys best mterest not to regu!ate
these' sharmg economy firms.

While technology-driven firms_ in‘the " sharlng economy’ may have many
advantages, the factors such as need for ensuring safety and quality standards
and the issue of equity are more important considerations.

The growth of these new firms has had a destabilizing effect on traditional firms

9732/01/Prelims /2016 Mark Scheme
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and can cause large disruptions to the firm owners and the workers as seen in
the extract. As such regulation is needed to ensure that traditional firms have
the chance and time to adapt to the new business model so as to minimize
disruptions in the economy via massive and sudden shut downs of traditional
firms and unequal distribution of profits to just one company. Furthermore
regulation is needed to ensure safety and quality is not compromised in the
provision of goods and services by the new firms in the ‘sharing economy’.

As such while there is no need to quash th se new firms, however there is a
need to regulate them to ensure safety; quality standards and to minimize

disruptions.

L3:7-8 Well balanced answer iders the various factors and
different economic agents hence, the need for regulation.

L2:4-6 siders various factors and at least

alyse the need for regulation

Some attempts té e.exffact evidence

L1:1-3 .| An one-sided answer that does not take into consideration the
factors determining the need for regulation (i.e., the answer
does not specify the factors of EFFICIENCY, EQUITY or any
other indicators/aims that the economy needs to consider)

E2-2 Well justified stand with attempt to provide new perspective

E1-1 Stand without justification

o Q72°/N4 /IDralime 2010 AMark Srheamae
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Question 2
Oil and the Venezuelan Economy
Extract 4: Venezuela, a nation in a state

Under the watch of Venezuela’s president, the nation has entered a steep decline. A global
oil boom, which provided money to lavish on Venezuela's once neglected poor, is over.
Venezuela sits on the world’s largest proven oil es. Oil makes up 96% of the country’s
export eamings and 25% of its GDP. The government's income from oil in the year to
November 2015 was two-thirds lower than durin > same period the year before. The oil
price has fallen further since then. With less. coming in and demand for imports still
strong, the value of Venezuela's forelgn-excha erves has dropped alarmingly.

The current oil slump would be pamful whoe was in power. The regime has greatly
compounded the damage with policies: that th ugh designed to favour the poor, end up
impoverishing them and the state. Pric ;contrj ave led to acute shortages of basic goods,
forcing people to queue for hours to buy: necessmes ‘Although the official price of goods is
correspondingly cheap, many are avallable only at inflated prices in the black market.

Inflation is officially running at 121. 7% last “year. Analysts believe the true figure is at least
200% a year; some predict hypennﬂatlon in 2016 as the Central Bank continues to print
money to finance the massive budget defacnt :

Source: Adapted from Time, December 2015 and The Economist, February 2016 -

Figure 2: Venezuelan money supply Figure 3: Venezuelan bolivar per
US dollar
Money supply, in trillions of bolivars "

0

10 300
400
Scate inverted
0_ — 500 N
2013 2014 2015 l2o3 oo 205
Source: Wall Street Journal, May 2015 Source: Wall street 5

irnal, May 2015
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Table 1: Venezuela: Selected economic indicators 2011 — 2015

Economic Indicators 2011 2012 2013 | 2014 | 2015

Gross Domestic Product (GDP) Growth 4.2 5.6 1.3 -3.9 5.7
(annual %)

Exports of goods and services (% of GDP) | 29.9 26.2 24.8 - -

Imports of goods and services (% of GDP) | 19.7 24.2 29.5 - -

| Gross capital formation (% of GDP) 23175 26.6 27.3 - -
“[Inflation, consumer prices (annual %) T 211 406 | 622 | 1217

‘I Unemployment, total (% of total labour - 8.1 7.5 8.6 -
1 force) : —

Source: World Bank, July 2016
‘Extract 5: Oil price plunge continues '

) The price of oil continued its precipitous fall on Friday, hitting five-and-a-half-year lows after
‘the International Energy Agency (IEA) predicted demand next year would be lower than
‘expected.

The oil price has plummeted in response to a massive build-up of shale-derived oil in the US,
reduced fears of fighting in Iraq disrupting supplies, and slower growth in demand as the
world economy falters. The IEA warned: “The resulting downward price pressure would raise
the risk of social instability or financial difficulties if producers found it difficult to pay back
debt.”

The Paris-based |EA singled out oil-producing countries such as Russia and Venezuela as
potential flashpoints for trouble and the warning came as the rouble, which has lost 40% in
value against the dollar so far this year, hit a fresh record low. One dollar now buys more
than 57 roubles, compared with 35 in the summer.

But while the oil-producing countries face lost revenues and budget shortfalls, lower energy
prices are expected to have a beneficial impact on the world economy.

Many countries, particularly in Asia, are desperately dependent on foreign oil and gas
imports, so cheaper prices should cut inflation and give impetus to manufacturing output and
consumer spending. Analysts at investment bank ING said: “The recent fall in oil prices may
not be sustained but, in the meantime, it provides a very welcome boost to real incomes for
-most major economies.”

Lower energy prices will cause havoc in the UK North Sea, where companies such
as BP and Shell are cutting jobs at a time when exploration levels have already dropped to
very low levels.

~But households will welcome the falling gas price cutting heating bills, while motorists will be
< glad of lower costs at the pump. High home and transport costs are a big influence on
inflation and affect the production and distribution of food and other items.

There are strong signs in the US that lower energy prices are having a big effect on

consumer spending with store and restaurant sales rising by 5% in November against the
same month the previous year.

B 729101 IDralime 90168 Mark SQrheme
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Tom Kloza, co-founder of the US-based Oil Price Information Service, has warned that the
world could be heading for $45 per barrel oil, although he maintained that this kind of price
was not sustainable long term.

Source: The Guardian, December 2014
Extract 6: The true cost of oil production
Every link in the chain of oil production, from exploration through consumption, generates

profound damage to the local environment and communities. As the industry moves towards
increasingly risky forms of fossil fuel productlon the lmpacts become more pronounced.

A notable Harvard Medical School study.i ldentlfes impacts from many aspects of oil
production. Exploration for new oil and ga often brmgs seismic explosions and the clearing
of huge swaths of forest; drilling produc (od dnlllng muds and waste waters; oil extraction
still often results in routine gas flari ,-:the point of extraction. Qil transport creates
additional hazards, as oil spills from plpehnes tankers and tank farms are still routine,
despite industry claims of safety me b

sdhr;{éf- Adapted from Oil Change International, April 2014

Questions

(a) (i) Using Table 1, describe the trend of Venezuela’s general price level
between 2011 and 2015. [1]

(i) Explain the statement: ‘Although the official price of goods is
correspondingly cheap, many are available only at inflated prices in the

black market'. [3]
(b) Explain the inefficiency in resource allocation in the market for oil. 4]
(c) Explain. how th change_ dep|cted |n Flgure 2 may have Ied to the outcome‘_ )
in Flgure 3. » : [4]

-'-:“:'leen the challenges in the o»l exportmg market dlSCUSS if Venezuela

@

| ‘should respond by being less globahsed [8]
" ~Assess whether, on balance, low:efrf'bilk"pr,ices can l’)fé‘j;b__ﬁ'fe‘ﬁCial. [10]
[Total: 30m]
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Mark Scheme

a) i

b)

c)

Using Table 1, describe the trend of Venezuela’s general price level between
2011 and 2015.

Between 2011 and 2015, Venezuela’'s general price level is increasing. [1]

Explain the statement: ‘Although the offi clal price of goods is correspondingly
cheap, many are available only at mﬂat rices in the black market’.

orrespondingly chéab’ is due to the
.which is below the market equilibrium
eiling placed under the market equilibrium

The reason why the ‘official price of..'
price ceiling implemented by the g
price [1] OR diagram depicting a
price [1]

This resulted in a shortage (Qs+
Since only Qs is available for sale
charged are higher than the official|

 created an upward pressure on prices [1]
ack market may be created where prices

Explain the inefficiency in reSj ‘allocation in the market for oil.

Oil productlon generates negative ernalities + extract evidence [1]

this creates a divergence between MPC and MSC [1]

in the free market, Qf is produced as producers seek to maximize their net benefit at
MPC=MPB. However, the socially efficient quantity is at Qs where MSC=MSB,
leading to overproduction [1]

creating a deadweight loss to society [1]

Full credit is available for students who do not draw diagram

Explain how the change depicted in Figure 2 may have led to the outcome in
Figure 3.

Figure 2 ,'dlcated that Venezuelaf

nd 2015 [1]
ncrease in money supply woul‘
s may have led to an outflow of h

aused mterest rates to fall [1]

yl1l

received by Venezuela has fallen (Extract
ing to a multiplied fall in national income,
as evidenced by Table 1, wher ws that Venezuela is suffering from negative
economic growth rates in recen s. Additionally, Venezuela is very reliant on oil
exports for growth, which makes the fall in export revenue received from oil even
more impactful (Extract 1: “Oil makes up 96% of the country’s export earnings and
25% of its GDP”).

productlon processes éxport reven
1 Para 2). This has led to a fall in

S Q72201 IPrabime 2016 Mark Scheme
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[4]
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Thesis: Venezuela should respond by being less globalized and engage in
protectionism (e.g. import-substitution strategies)

Venezuela can impose tariffs on its imports (Extract 1 Para 2 and Table 1 shows
Venezuela's reliance on imports) in order to encourage expenditure-switching
behaviour.

Price
A Sp

i
o

TG
?

Qs Qe Quanfity

duce world supply from Sw to Sw+T and cause
s to Pw+T. As a result, imports fall from Q1Q4 to
>1, the imposition of a tariff will cause prices of
tity demanded of imports to fall more than
lmport expenditure.

This fall in import expenditure can’ help to offset the fall in export revenue faced by
Venezuela as an outcome of falling oil prices, allowing its net exports and national
income to remain relatively unchanged.

Ol-c-mveufen
&

o Qy

An imposition of a tariff, T, w
prices of imports to increase fr
Q2Q3. Assuming that the PED
imports to rise, and the q
proportionately, leading to a falli

Anti-Thesis 1: However, there are costs of engaging in protectionism. The imposition
of protectionist measures such as tariffs may invite retaliation from Venezuela’s
trading partners, who may similarly slap tariffs on Venezuelan’s exports. If this
occurs, Venezuela may face a further reduction in export revenue, on top of the fall
in export revenue due to falling oil prices.

Irces because countries
e advantage in and thus
untries. This is further
" , production, firms will be
able to reap economies of scale thu ing ¢ roduction. Lower costs
import tariff, Venezuela

at it is supposed to be.
: nd the reduction m

output produced. There is a more ef
speCIahse in producing goods WhICh
_-|s ‘able to produce at Iower cost

art|f|C|al|y causes the price of lmports to be hlgher th
- Consumers in Venezuela will suffer: .
: consumervsurplus '

Synthesnsﬁi‘\/enezuela should not respond to the falling oil pncesb g’
globalized. From the above anaIyS|s_ _|t is clear that the benefts galned from

outweighed by the long-term costs: -Therefore becoming less globalized is a short-
term solution to Venezuela’s troubles. Venezuela should look towards diversifying its
economy and reducing its reliance on oil exports for a more sustainable solution.

| Level | Description | Marks |
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L2 A well-balanced response that looks at both the costs and 4-6
benefits of becoming less globalized. Answer also
includes extract evidence.

L1 One-sided response that looks at either the costs or the 1-3
benefits of becoming less globalized. Response may not
have included extract evidence as support.

E Overall stand on the issue with/without justifications 1-2

based on economic analysis.

Assess whether, on balance, lower oil s can be beneficial.

Thesis: There are costs incurred by -producing countries from lower oil
prices. '

From Extract 5 Para 3: Oil producing countries face falling export revenue (X)
because of falling oil prices, assuming that the demand for oil is price inelastic. With
a fall in X-M, AD falls from ADO to AD1 thus reducing national income by a multiplied
amount via the negative multiplier effect (from YO to Y1). Unemployment rises as
well, since the economy would be operating further away from full employment
output. (Extract 5 Para 6: “Lower energy prices will cause havoc in the UK North
Sea, where companies such as BP and Shell are cutting jobs at a time when
exploration levels have already dropped to very low levels”). The evidence suggests
that the fall in oil prices has resulted in unemployment of the oil exploration workers.
This has the immediate effect of reducing the SOL of these workers. If these workers
cannot re-train and ‘move to another industries, they may face structural
unemployment that will take a long time to address. If they are discouraged and
move out of the labour force, they become hidden unemployment which will affect
the productive capacity of the economy.

General
Price
tevel

AS

AD,

{AD,

Real

Yy Yo GDP

From the extract: “Rouble, which has lost 40% in value against the dollar so far this
year, hit a fresh record low.” Since there is a fall in expenditure on oil due to the
falling oil prices, there will be a fall in demand for oil producing countries’ currencies.
This thus led to a currency depreciation for these countries, leading to external
instability and possibly shakening investor confidence.

I Q729101 IDralime 2040 Mark QRcheme
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From Extract 5 Para 4: “Oil-producing countries face lost revenues and budget
shortfalls”. When there is a fall in the revenue and profits of oil producing firms in the
oil producing countries, the corporate tax revenue received by these governments
will fall, which can lead to budget deficits and the inability for government to finance
social (e.g. education and health) and infrastructural developments. Although the fall
in tax revenues is a short term cost, there are long term implications for these
economy as a fall in infrastructural and social development may result in a fall in AS
as the productive capabilities and capacity:of the economies may fall. This will result
in future decline in NY and increase in GPL. , *

Antithesis: However, there could be be o lower oil prices as well, particularly to
oil consumers. :
‘particularly in Asia, are dependent on
es should cut inflation, give impetus to
nd boost real incomes. The fall in costs
es will lead to an increase in AS (AS shifts
~GPL.to fall from PO to P1 and increasing NY
‘consumption and investment (illustrated as a
justified by what is mentioned in Extract 5:
t lower energy prices are having a big effect on
consumer spending with store restaurant sales rising by 5% in November
against the same month the previous year”. Furthermore, Extract 5 also mentioned
that “high home and transport costs are a big influence on inflation and affect the
production and distribution of food and other items”, which suggested that this
benefit is very significant as oil prices affect GPL very significantly and in a wide-
ranging manner. Any fall in oil price will reduce transport costs thus increase AS
drastically.

As suggested in Extract 5, ma
foreign oil and gas imports, so
manufacturing output, consu
of production as a result of f
downwards from ASO to AS1
from YO to Y1, through an in
movement along AD). This

“There are strong signs in the US

General
Price
Level

Py

Real

Ys Yo GDP

"Couh’ter-argument: However, Extract 5 indicated that “this kind of price was not

sustainable long term” which implied that any benefits derived from the lower oil
prices may not be sustained in the long term.

Mini-Synthesis: Therefore, while there are many benefits to lower oil prices, many of
these benefits may not be long term as once the oil prices increase, these benefits
will be reversed/eliminated.

Overall Synthesis: There are many benefits and costs associated with lower oil
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prices but it is clear that the ones who gain are the consumers but the ones who lose
will be oil producers and oil exporting countries.

Alternative Synthesis: Although there are benefits and costs to lower oil prices to
different countries and different groups of economic agents, given that the price is
not expected to be sustainable in the long term, the long term benefits will be limited,
even for those who may gain from the lower prices. On the other hand, the costs
essentially will have longer term effects, thus on balance it is not so beneficial given
that the benefits do not last.

Note
Students are not expected to include all points presented in this suggested answer.

Other possible costs — (i) fall in oil price leading to fall in price of petrol thus
increasing consumption of petrol, which generates negative externalities.

Other possible benefits — (i) fall in oil exploration, which generates negative
externalities, will help to reduce inefficient allocation of resources; (ii) fall in oil price
may induce oil producing countries to re-structure and diversify to other industries
that is more sustainable and less volatile in growth.

L3 | A well-balanced response that looks at both the costs and benefits | 7 - 8
of lower oil prices to different parties in the economy (i.e.
consumers and producers of oil, or oil-producing vs oil-consuming
countries). Answer also includes extract evidence.

L2 One-sided response that looks at either the costs or the benefits of | 4 - 6
lower oil prices. Well elaborated response that includes extract
evidence as support.

OR

Two-sided response that looks at the costs and the benefits of
lower oil prices. May not have elaborated completely or no extract
evid as sipport.

10 response that looks.at either the costs or the benefits of | 1-3
oil prices.: Response ma! not have considered the impact of |
wer oil prices on different: \ ‘ y'“ Response
does not include extract evndence as support L
Overall stand on the lssue wnth/w:thout justlflcatlons based on [ 1-2
economic analysis. :

L1
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Answer three questions in total.

Section A

One or two of your three chosen questions must be from this section.

1 (a) Based on economic theory, explain how society deals with scarcity._ [10]

(b) The free market should always be left alone. Comment. [15]

2 Domestically, rising costs and competitive prices offered by regional rivals are eroding
Singapore’s appeal as a medical tourism hub. At the same time, incomes in Asia,
where a large portion of the clients come from, has suffered from the slowdown in
China’s economy.

Source: Perspectives@SMU

Using economic analysis, discuss the impact these events are likely to have had on
consumers’ expenditure on medical services in domestic and foreign markets. [25]

3 Singapore Airlines, caught between the rapid emergence of airlines from the Gulf
countries (for example, Emirates) and low cost Asian rivals, is attempting to revive
growth by cutting prices.

Source: CNBC

(a) Using appropriate examples, explain the various internal economies of scale
enjoyed by an airline company. [10]

(b) Given the market structure Singapore Airlines is operating in, discuss. if the
business strategy used is the best way to survive the threats in the airline
industry. [15]



Section B

One or two of your three chosen questions must be from this section.

4 Assess the importance of external stability in achieving an improvement of standard of
living for different economies. [25]

5 (a) Explain what determines the effectiveness of fiscal policy in achieving economic
growth in Singapore. ‘ [10]

(b) Discuss whether conflict in macroeconomic objectives is the most important
' factor in determining policy decisions in Singapore. [15]

6 Towhat extel:mt is there a greater need for smaller countries to be globalised? [25]
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Question 1

(a) Based on economic theory, explain how society deals with scarcity. [10]

Question Interpretation

Command e “Explain how” — to elaborate in detail, the processes that lead to
Word eventual effects/outcomes
Content: o Central Problem of Economics - Scarcity

e Rational decision- -making by Consumers (to maximise satisfaction) &
Producers (to maximise:profits) using Marginalist Prineiple
* Price adjustment process in Price mechanism

Context: » Give examples of d

ions made by consumers and producers

Sugqgested Answer

Introduction :
The central problem of economics is
fulfil the unlimited wants of econom
choice making where rational decisions ¢

/- whereby the limited resources are unable to
ts in the society. This situation necessitates
made by consumers and producers.

Consumers and producers will make ratlonal decision based on the marginalist principle:
Consumers choose how much to consume to maximize satisfaction; Producers choose how
much to produce, how to produce and which goods to produce to maximize profits.

The interactions between consumers and producers give rise to the market forces of
demand and supply, where the price mechanism in the free market will help to allocate the
resources efficiently. In this essay, we will be exploring how all these will be achieved in the
society.

Body Paragraph 1- Con umers’ Perspective

SAsume, consumers will try to maximize’
the consumption of the: good

P: In ordefrjt' '~'dec1de on how: much good
welfare :nsumer surplus) / satisfaction fror
' Price

bD

: » Quantity
I q )
Figure 1: Demand- Curve of a Consumer

E: Consumers buy an additional unit. ¢ -e"‘good (for eg, a plate of chicken rice) if the

(marginal cost).

9732/02/Prelims /12016 Mark Scheme




E: According to the law of diminishing marginal returns, as the consumers consumes greater
quantity of a good the marginal satisfaction (or marginal benefit, MB) keeps falling and
hence the willingness to pay additional price falls. This also explains the downward slope of
the demand curve.

E: At any quantity lesser than q, the consumer’'s MB (measured by the demand curve) is
higher than the MC (measured by the market price, P) they are paying. Therefore it is
. optimal for them to increase consumption until MB=MC, i.e. until q. This is where MC=MB

.-and the consumers have the greatest consumer surplus as illustrated by the shaded area on
- -the diagram. Thus given price, P, consumers W|Il deCIde to consume up to g.

" E: This is also the same for quantity beyqn" here the MC is more than the MB for
consumption of additional plate of chicken rice, thus consumers will decrease consumption
till g to maximize their consumer surplus Seshe

rs to decide how much of the goods to

L: The similar principle also helps “th
r ) maximize their profits.

produce using the scarce resources i

- Body Paragraph 2 — Producers’ P ‘ specti
P: Firms aim to maximize profits and: eyv,wnl allocate scarce resources to achieve that by

using the marginalist principle.
Price

T

mC

"DD=AR=MR

> Quantlty

Figure 2: PC Flrm
n example of an ice cream:
re thinking of selling an additic
marginal revenue, MR) they can.
ncurs a marginal cost (MC) of se

as long as the marginal revenue
nal cost, the producers’ profits
s.of ice cream. They will reach |
-of ice cream sold is exactly eq

o the marginal cost MC MR.

! to produce. When' the
s greater than MC, profits-will.increase by
e of SS curve.

' list principle also helps prod
pnce of a good "ncreases the new P b
producing more, which explains the upward

L: The interactions of consumers and%;producér's in the free market will give rise to the forces
of demand and supply. The price mechanism will act as a signal in allocating scarce
resources efficiently.

Body Paragraph 3 — Price Mechanism in allocating resources

e e e e YT A Y [ oam o 13N O AArl CAlAr e



P: Combining the self-interest driven decision making consumers and producers, resources
in a perfectly free market are said to be allocated efficiency when there are no shortage and
surplus.

Price N SURPLUS

P2

P1

* Quantity
Q2 Q1 a3 traded

Figure 3: Price Mechanism in a Free Market

E: Imagine an initial disequilibrium at P2. There is a surplus created as Q3 > Q2. This exerts
a downward pressure on price. As prices fall, there is a fall in MC (from consumers’ point of
view) from consuming an additional .unit.as compared to MB (i.e. MC<MB at Q2) and
therefore consumers should increase consumption from Q2. Similarly, as prices fall, there is
a fall in MR received (from producers’ point of view) from producing an additional unit as
compared to MC (i.e. MR<MC at Q3) and therefore producers should cut back on production
from Q3. Eventually, this price adjustment process, aided by marginalist thinking will
eliminate the surplus and create a new equilibrium at P1 and Q1, where consumers and
producers maximize their consumer and producer surplus respectively.

L: This leads to efficient allocation in the free market.

Conclusion
In conclusion, the rational decisions by producers and consumers creates the forces of
demand and supply, which then enables the free market to allocate a scare resource so that
any shortage or-: surplus is ‘eventually eliminated. This will help to. -address. scarcrty as
wastage of resources is prevented where' the both the consumer and producer surp s

LORMS

D cnptors ﬁi,;;.f - Marks

For a well-developed answer that demonstrat_ _ 6pe and detailed
economic explanation of how:the marginalist’ pnnC|ple framework is
SR being applied by consumers:AND:producers in: -maximising their
L3. | satisfaction (CS) and profits (| 3) respectively.
' | Explanations of how the  price mechanism allocates scarce
| resources efficiently are also well developed
- Clear reference of the above concepts made to the

| diagrams..

For an under-developed answer that demonstrates a narrow scope
and weak economic explanatlon of how the marginalist principle
L2 framework is being app'l_' “by consumers AND/OR producers in
maximising their satisfaction (CS) and profits (PS) respectively. 5-6
(Either consumers OR producers ONLY, Max 6m)

Explanations of how the price mechanism allocates scarce
resources efficiently are missing or under- developed. (No

L 9732/02/Prelims /2016 Mark Scheme




mentioning of price mechanism: Max 6m)
Reference of the above concepts made to relevant diagrams is
unclear.

For an answer that shows some knowledge of the concepts of
L1 scarcity and marginalist principle and how they are applied in the
context of consumers and producers. Answer is lacking in 1-4
economic analysis.

No reference to relevant diagrams in explanations.

(b) The free market should always be left al ne. omment. [15]

Question Interpretation

Command e Comment - Requrre ltiple perspectives on issue(s). Usually
Word involves using a TAS framework

Content: e Conditions for Price Mechanism to allocate resources efficiently
Sources of Market Failure
o Government Intervention & Government Failure

| Context: e Give examples in the:context of sources of market failure — for eg:
consumption of alcohol in negative externalities.

Approach: To develop the thesis of the essay by explaining the conditions where
price mechanism will lead to efficient outcomes. Next, identify and explain
2 sources of market failure where price mechanism will no longer be able
to allocate resources efficiently. These situations necessitate intervention
by the government to improve resource allocation. Lastly, students are
expected to make a justified stand of the question and provide additional
perspectives. :

Suggested Answer

Introduction

Free market ses the prrce mechanlsm to allocate resources to. therr varlous uses (| e. to

, we will seek to exp|ore if the free market ought o__ be talways left alone without
: 'Ilocated efficiently.

Thesis: Prlce ‘mechanism 'in a free market may achleve efflcrency in resource
allocation, assuming that the conditions necessary hold true.

E: The price mechanism is a system of price signals that is sent between consumers and

producers. Consumers send to and receive price signals (prices of goods and services) from
producers in the goods market.
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E: Price mechanism ensures allocative efficiency as it assumes that both the firms and
households are rational and aim to maximise their benefits when making a decision. Goods
and services are therefore produced according to consumers’ willingness and ability to buy,
thus it reflected consumers’ preferences. The demand curve is equal to the marginal benefit
curve i.e. the (private) benefit of the additional unit, while the supply curve is equal to the
marginal cost curve i.e. the (private) cost of the additional unit. With the assumptions that in
a perfect market where there are no externalities and sources of market failure, the demand
curve is also equal to the marginal social benefit. while the supply curve is equal to the
marginal social cost of society. ‘

E: Therefore, with reference to Figure 4, th
supply, is also where marginal social benefit:
social benefit is maximised, meaning this |

et equilibrium, where_demand meets
narginal social costs. At this point, net
ive efficient outcome.

Price
A SS=MPC=MSC

DD=MPB=MSB -
» Quantity

Q
Figure 4: Perfect Competitive Market
OR The price mechanism will ensure that any shortages or surpluses are eliminated and the
equilibrium price and quantity is achieved. At the equilibrium, DD=SS and

P=MC/MSB=MSC. With P=MC- it means that there is no under or over aIIocatlon and the
right amount:of. the goods have been produced

Without pe lnformatlon it is not possﬂale to expect pnce mechamsm o achleve
efficiency in resource: allocation. .

E: In addition, other forms of market failure ‘occur due to existence of externalities, public
goods, merit and demerit goods, imperfect market structure etc. When a market fails to
achieve allocative efficiency and resources are not allocated efficiently, market failure
occurs. Thus, the price mechanism in the free market will no longer allocate resources
efficiently.
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Antithesis Paragraph 1: Negative Externalities

P: Price mechanism does not take into account external cost or benefit in the
consumption/production of certain goods.

E: When negative externalities are present, there is a divergence between a consumer’s
MPC vs the society’'s MSC, and therefore when the consumer uses the marginalist principle
--to consume at where MPC=MPB, it is not allocatively efficient.

E: In a free market economy driven by self-intere

- MPB=MPC, where their net private benefit .is.
~example, private costs borne by the firm wil
equipment. Private benefit accrued to thefi
simplicity we assume there are no extemal
hence MSB=MPB. External costs such
power, as well as the adverse health lm
account. e

ms will produce at the point whereby
mized — at Qs in Figure 5. In this
labour costs, overhead costs and
revenue they are able to enjoy. For
in the production of power (MEB = 0),
wironmental pollution during the production of

s of people who live nearby, are not taken into

. MSC
Costs/ B:nefit ”

MPC

Quantity of
" Cigarettes
Smoked

in: Flgure 5, where MSC
uctlon This means that

utput and a deadweight loss to somety results This'is: 'giVen by the shaded area in
agram. The market fails as a result and the government could improve resource
through the use of taxes or legislation.

s!the presence of externalities, pubhc goods will also Iead to market failure.

AntltheSIsﬁ Paragraph 2: Public Goods

P: Due to the non-éxcludable and non-rivalrous characteristics of public goods, consumers
may not voice their demands or producers may not be willing to produce such goods. Thus,
markets of such goods are missing although the entire society will be better off if there is
provision. '

E: Since consumers can consume a public good (for eg, national security) without paying
for it (in effect acting as a free rider), there is no feasible way of excluding non-payers from
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enjoying the benefits of the good (non-excludability). Consumers would not be willing to
pay for the good. There is no effective demand. Hence, in a free market, private firms will
not produce national security as the firms are unable to derive the effective demand for it
since no consumers will reveal their willingness and ability to pay for national security.

E: To achieve allocative efficiency, MSC = MSB. Since marginal social cost of providing
national security to an additional person is zero (non-rivalry), price must be zero if the
economy is to allocate resources efficiently. No private producer will be willing to provide
national security for free for the sake of allocative. efficiency. As the private firm is unable
to effectively charge a price for the product (no “excludability in consumption feature) and
the price should be zero from the society’ of view (non-rivalry. in consumption
feature), no private firm will provide national security: -

nment w:ll need to supply these goods through
.,allocatlon

E: Thus in the market of public goods, gc
direct provision in order to improve reso

L: The presence of market domlnance n"*an lmperfect market structure will also lead to
market failure.

Antithesis Paragraph 3: Market Dommance
P: Due to imperfect knowledge and: barrners to entry, price mechanism may fail to work
efficiently in some markets. .~

E: When there is monopoly power, for example De Beers group in the market for diamonds,
the monopolist will pursue their own self-interest by maximizing their profit at where MR=MC
(according to the marginalist principle. Profit motivated producers (for eg: a monopolist) may
choose to restrict the output (Q) and charge a higher price (P), leading to inefficient
allocation of resources (P>MC) as illustrated in Figure 6. ).

Price/ T , s :
Costs / MC (SS under Perfect Compstition)

- Revenue

Pm

Prc

o | Qn Qe Cutput

Figure 6: Market failure:'::du'e}ttb“‘amarket dominance

E: Under perfect competition, the equilibrium price and output occurs at Ppc and Qec
respectively, whereby market demand intersects market supply. Consumer surplus is shown
by areas 1+2+3 and producer surplus by areas 4+5. Total surplus is maximised at this
output Qpc.
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E: The monopolist (De Beers) demand curve would be the former market demand curve AR,
while the monopolist’'s marginal cost curve would be the former market supply curve MC
(assuming that there are no economies of scale). The monopolist maximises profit by
producing at the point where MC=MR, thus resulting in the equilibrium price and output of
Pm and Qm respectively.

E: At the new level of output Qm, producer surplus is areas 2+4 (note that area 2 has been
<transformed from consumer surplus previously under perfect competition to producer surplus
= .now). Consumer surplus falls drastically to are Total surplus under monopoly is areas
#1+2+4. Monopolisation of the industry has resul n a loss of surplus of areas 3+5. This is
" ’known as the deadweight welfare loss to soci ety’s welfare is not maximized.

E: Therefore, under imperfect markets, fi to dictate prices, and if left entirely to

the price mechanism may lead to a misall sources. Hence government will need

to set competition laws for the market to

‘ Synthesis

Price mechanism will lead to an effic
assumptions, which usually do not
always be left alone under such conditi

catlon of resources only under several strict
eality. Therefore, the free market should not
where sources of market failure are present.

This means that there is usually room or government intervention to improve resource
allocation. However, there is always a possibility of government failure since the government
may also suffer from imperfect information. If-government intervention results in a worse
outcome as compared to the original market failure, the free market may be better off left
alone.

LORMS
Level ‘ Descriptors Marks
For a well- developed answer that demonstrates scope and
B detalled economlc explanatn the role of pnce mechamsm in-
- achlevmg effucne {
13 reality due to the various
| illustrates an ability to recog 9-11
conditions for efficiency to b
At least 2 sources of mark
appropriate diagrams.
For an undeveloped explar
efficiency and inefficiency due.
the role of price mechanlsm
L2 | resource allocation without nce to efficiency. Expect anj.
explanation of why effici resource allocation cannot be| 6-8
achieved in reality due t forms of market failures.
Reference of the above coﬁcepts made to relevant diagrams is
unclear.
Max 8: Only 1 source of market failure is well elaborated.
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For an answer that shows some knowledge of concepts of
efficiency, and/ or price mechanism or / and market failure without

L1
explanation. Answer contains several conceptual errors. 1-5
No reference to relevant diagrams in explanations.
E1(1-2) | Stand with no/weak justification.
E2 (3 -4) | Stand with good justification
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Question 2

Domestically, rising costs and competitive prices offered by regional rivals are eroding

Singapore’s appeals as a medical tourism hub. At the same time, incomes in Asia, where a

large portion of the clients come from, has suffered from the slowdown in China’s economy.
Source: Perspectives@smu

Using economic analysis, discuss the impact these events are likely to have had on
consumers’ expenditure on medical services in domestic and foreign markets.  [25]

Command: Discuss the impacts on domes,tié Singapore) and foreign (Malaysia, Korea,
Thailand) medical services mal e discussion stems from changes in
circumstances such as the reduction’ of prices by rivals, rising incomes in
Asia and rising costs in Singapore; : =

Content: Demand and Supply, PED, YED, XEI and TE.

Context: Medical services market in ‘Slnga‘p‘o\re and foreign countries.

How to attempt this question:
Firstly we need to establish: o '
1. How the rising costs will affept supply of medical services in Singapore. Relate

change in_supply to impact on consumer expenditure i.e. total expenditure with the
use of price elasticity of demand concept

2. How the fall in prices of substltutes (rival prices) will affect demand for medical
services in Singapore. To bring in cross elasticity concept here.

3. How the fall in income levels will affect demand for medical services in Singapore
with the use of income elasticity concept.

4. Relate above change in demand in point 2 and 3 to impact on consumer expenditure
i.e. total expenditure.

5. How will the simultaneous shifts of demand and supply above affect the Singapore
medical - services market in terms of equilibrium price and quantlty and total
“endlture ' v :

w the fall in income Ievels will affect demand for_;}me vcal servnces in forelgn

able to buy-at:;each possnble price during-a. glven period of time, ceterls anbus Supply is
defined as the amount of a good or service that.producers are both willing and able to sell at
each possible price during a given perio}d:'of‘tim'e”, ceteris paribus

The price elasticity of demand (PED) fﬁeasures the degree of responsiveness of quantity

demanded of a good to a change in its price, ceteris paribus. The cross elasticity of demand
(XED) measures the degree of responsiveness of demand of one good to a change in the
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price of another good, ceteris paribus. The income elasticity of demand (YED) measures the
degree of responsiveness of demand of a good to a change in income, ceteris paribus.

With an increase in costs, it will decrease the supply of goods/services. The competitive
prices of rivals will cause demand for Singapore goods to fall and falling incomes in Asia will
have an adverse impact on demand for normal goods and increase demand for inferior
goods/services. Thus given the circumstances in the preamble there will be changes in both
demand and supply of the various markets for medical services. This essay will use the
concept of demand, supply & elasticity to determme how the price, quantity and total
expenditure for various products (namely domestlc ‘and foreign medical services) will be
affected. ‘

Body

Singapore Medical Services Market

DDs’pore med sves fall it ¥
Singapore and foreign medical servic 'a“re‘ ‘substitutes. Substitutes in consumption are
goods that can be used in place of one another for the satisfaction of a particular
purpose/want i.e. goods which are alte_ atives for each other. For e.g. they are deemed as
substitutes as they render similar servit to satify similar medicals needs of people. Their
cross elasticity of demand would be positive. This means that an increase in price of one
good brings about an increase in demand for its substitute. In the context of competitive
prices offered by foreign medical services i.e. decrease in price of foreign medical services,
the demand for Singapore medical services will decrease and the total expenditure (TE) on
Singapore medical services will fall.

However the extent of the fall in TE depends on whether Singapore and foreign medical
services are close or weak substitutes.

Price {$)
A

So

Dy
D4

0 ;gyz

Figure 1: Market for Singapore
Medical Services.

if the quallty of services offered by foreign nvals are much Iowe sompared to Singapore’s
medical-services i.e. in terms of-quality ofi;after—care and use O medlcal technology it
will be deemed as a.weak substitute. Soin the case where rivals wi 0 lower: pric
demand for Slngapores medical service “decrease but to a less than’ proporhonate
extent from Doto D (As seen in Figure 1). Consequently the equilibrium price and quantity
will fall. As total expenditure is equal to rice X quantity, total expenditure on Singapore
medical services will fall. However this fall will not be as large as compared to a fall in TE if
the goods were close substitutes as close substitutes would have seen the demand fall to D,
instead.
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Price
A
Pol-------2
A\ 2
2 R
0 Quant=ity
Figure 2: Decreas v
A decrease in demand from Do to D4 ln ériﬁ'_s" paribus, creates surplus of QuQ; at the

initial price Po. A surplus drives the pri
according to the Law of Demand anq A spectively. The adjustment process continues

for Singapore medical services to fall since
medical services are generally consider: be normal goods with YED > 0. However the
extent of fall in TE depends on whether ingapore medical services are regarded as luxury
items or necessity items. Fall in incomes will mean consumers have less ability to buy goods
and services which will lead to a fall in demand for normal goods. Singapore medical
services can be viewed as a normal good i.e. an increase in income will lead to an increase
in demand for the goods ceteris paribus and vice versa. The impact of falling incomes in

Falling incomes in Asia will also cau"

~ Asia will be as seen in figure 1 where demand falls from Doto Dy or D2. In either case this

" level, causm‘g'the su’pply to fall from Soto 'S

will lead to a fall in equilibrium price and quantity and a fall in total expenditure.

The extent of the fall in TE will be large for luxury items as income elasticity of demand will
be greater than 1. This means for a given fall in income there will .be a.more than
proportionate fall in demand. from D, to Dz:A "'dlcal services like cosmetic surgery for
enhancements would fall into-the: categoryiv ry items. So such services will see a
emand and consequently large falls E. However if'the good is conS|dered a
y-e.g. Skin grafting surgery for bur_ s, it will hav ome elasticity of demand
i be greater than 0 but less than 1. Such ‘medical services will not see such a large
lemand from a fall in income leve and thus TE will fall to a lesser extent for such

aI for office space and the
servnces to fall. Thls_ ;s

seen in figure 3.

The impact on TE will depend on the pnce astICIty of demand (PED) for Singapore medical
services. Price elasticity of demand for Slngapore medical services can be both price
inelastic and price elastic. For e.g. demand for heart surgery and cancer treatments will be
considered price inelastic as there will be little substitutes for such services besides
traditional medicine treatments and alternative therapies. Such services will see a less than

R Q72N I1IDealirmme IDON4E2 AAark Crhoamno



14

proportionate fall in quantity demanded from Qo to Qi to a rise in prices Poto Pin. This implies
that the fall in total expenditure due to a fall in quantity traded will be less than the rise in TE
due to the rise in prices. Overall TE will rise for consumers of such services. However if the
service is for facial reconstruction or body enhancements then demand is most likely to be
price elastic as the proportion of income spent on such services will be very large. As such
the rise in prices Poto Pe will trigger a more than proportionate fall in quantity demanded, Qo
to Qe leading to an overall fall in TE by consumers of such goods.

Price (3) 1

Figure 3: Market for Singapore
Medical Services.

Combine SS & DD Effects

Price ($)
¥ 3

\ZHBN

]
»
¥
3
»
t

HE . 0 & o
Quantity

Figure 4: Market {or Singapore
Medical Services.

surgery TE WI|| vfall due to- changes in de
overall TE will fall for these services. -

Foreign Medical Services Market

DDforeign med svcs FiS€S
Falling incomes in Asia will cause TE for foreign medical services to rise. This is based on

the assumption that foreign medical services in the South East Asian region e.g. Indonesia
9732/02/Prelims /2016 Mark Scheme
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and Cambodia will be considered inferior goods compared to services offered in Singapore
(YED<0). Hence the fall in incomes will mean there will be a rise in demand for foreign
medical services. Thus Indonesians who may have opted to come to Singapore for an eye
surgery will now choose to stay in Indonesia to get the same medical procedure done as
there is a general fall in income levels in Asia. With reference to figure 5 this would be
represented by a rise in demand from D, to D1 Hence there is a rise in equilibrium price and
quantity and a rise in total expenditure PoQo.

Price ($)
Fy

So

4 D4

»

0 " Quantity

Figure 5: Market for Foreign Medical
Services.

Conclusion -

To conclude, the impact of the contexts glven in the preamble would impact consumer’s
expenditure differently for Singapore medical services and foreign medical services. In
summary impact on consumer expenditure for Singapore medical was either a fall in TE or
indeterminate while in the case of foreign services it was an overall rise in TE. The impact on
consumer expenditures for medical services depended not only on the demand and supply
factors that were taking place. The impact was also determined by price elasticity, cross
elasticity and income elasticity of demand. However these impacts may well turn out
differently if the ceteris paribus conditions did not hold or the assumptions about the two
markets were different e.g. foreign medical services may not be inferior after all hence TE
may fall overall. :

LORMS

el 1 | Low The answer is mostly |rrelevant and contelns only a few | 1-5 marks
valid points made mmdentally ip an irrelevan

-~ | High The answer shows some knowledge: e.g; understanding | 6-9 marks
' and explanation of the various caus ~demand and
supply, but does not: mdlcate that t - meaning of the
question has been properly graspe ‘Basic errors of
theory and/or and- lnadequate development of analysis
may be evident. -

Answers that are not answered in context to Singapore
and no use-of examples related to medical sérvices.

+Level 2: | Low The answer shows the ability to identify facts, some ability | 10-11"marks
S ' at: graphs fair ablllty to apply theory to the situations. E.g. R

Ability to explain vanous outcomes/shifts for two markets.

Elasticity concepts were. used with little development.

High has.-a more thorough relevance to the
question but the theory is incompletely explained.

Some of use of elasticity concepts within the answer will
fall into this category. Total expenditure is covered with

some development.
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Level 3

Low

A good knowledge of facts and theory of the question,
clear evidence of the ability to use facts and theory with
accurate reference to the question that may have
presented the candidate E.g. Students are able to explain
in depth the various shifts in DD and SS as well as
identification of use of 3 elasticity concepts, PED, YED
and XED. .

Both markets are well analysed. Candidates are also able
to comment on the direction. and extent impact on the
consumers of the two markets..
Candidates are able to.¢ e impacts from single shifts
to arrive at a conclusi wverall impact on consumer
expenditure from the aneous shifts.

15-17 marks

High

A thorough kn of ‘facts and theory with an
excellent ability . -and explain this in a precise,
ner. The ability to query some of
nt. lllustrations and examples
naterial discussed are introduced as
e ability to recognise the principles of
heir application to relevant current

the question
situations.

18-21 marks

Evaluat
ion

E1

Mainly unexplaiﬁ .‘udgements

1-2 marks

E2

Justified and well explained statements

3-4 marks
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Question 3
Singapore Airlines, caught between the rapid emergence of airlines from the Gulf
countries (for example, Emirates) and low cost Asian rivals, is attempting to revive
growth by cutting prices.

Source: CNBC

a) Using appropriate examples, explain the various internal economies of scale
_enjoyed by an airline company. [10]

- Command Words:

+.a)'Using appropriate examples’- just stating the examples are not enough. The question
requires you to make use of the examples to develop the points

b) ‘explain’- give detailed analysis of

Content: Various (more than 1) Internal Economies of Scale: cost savings resulting from
“EXPANSION of a firm. You need to clearly explain what the expansion is in terms of. The
- answer requires the use of a diagram that shows how LRAC falls (movement along the
" curve) with increase in output.

Context: Airline company

Approach:

- Explain what it means for an airline company to expand.

- Followed by this, explain 3 sources of IEOS, using examples, which can result from such
an expansion.

-Explain using a diagram how LRAC is lowered when there is such an expansion.

Introduction

Internal economies of scale (IEOS) are the cost savings a firm experiences as it increases its
scale of production/operation. Thus, as the scale of production/operation increases, the long
run average cost will fall (as the total cost is spread over a larger range of
production/operation).

Body

Paragragh 1 B TRy

There are different types of IEOS that an a 'company can ‘when they expand their

scale of operatlon Expansion of scale of operation in this:case may refer to the number of
' passenqers they carry, the number of fllqhts thev operate or even the number of airports they

erve/ﬂy {o.

Paragragh 2
There are IEOS from organizational econon

there is greater flexibilty to employ spec
management sales and advertisement, huma
finance -etc. This will help the airline compa"
lower averaqe cost of operatlon

esource management training of the crew,
4 e; achleve hlqher anaqerlal efflmencv and

Paragraph 3 ’ '
There are IEOS from spreading overheads- and indivisibilities. As an airline embarks on-R&D

for more fuel efficient planes or better -quality of in-flight experience, they will incur
significantly large costs of embarking on such investments. Similarly, for each airline
company the fleet of aircraft constitutes a huge fixed cost. An airline company also has to
incur high start-up cost in terms of the technology required, routes to be chosen and setting
up of the facilities (especially in terms of logistics) at different airports. Thus, all these
L Q7A2/00 1D ralirme 1012 AMark C~hoarmo
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investments in fixed costs tend to be viable and cost efficient only with a large scale of
operation (such that the long run average cost is lowered with increase in scale of operation).

Paragraph 4
There are financial IEOS that can be enjoyed by an airline company. An airline company may

have to obtain funds from financial institutions to carry out their operations and research
projects. The larger the scale of operation (for example, SIA or Emirates which not only have
aircrafts with large (passenger/seat) capacity but also serves many airports), the lower is the
interest rate on loans. This is because the scale of operation directly affects their credit
worthiness as a borrower (less risk of default). Th , a lower interest rate will help to lower
the average cost of the firm. Similarly, the ad ering of the interest rate can be spread
over a large scale of output which will lower Ion run averaqe costs.

Additional point that can also be used o
Commercial IEOS- An airline company ma nt.to invest in advertisement to attract many
tourists and gain market share both._in. the: domestic market as well as the international
market. As the advertisement cost ¢ dered to be a fixed cost, the average cost of
advertising will be lower for SIA whick ge scale of operation over long run.

(any 3 of the above IEQOS) E e

own using a LRAC curve. As the airline company
om QO to Q1, the long run average cost falls from

The IEOS enjoyed by a firm can be-
expands/has a higher scale of operatlo
CO to C1. [diagram must be used]

Cost
LRAC

Internal

Qi. Disecon?
A\ Economies

0 Qo Q1

co |-

QOutput

] EOS from Iarge cale of operatlon and move
ng the LRAC. However, the assu : g
‘RAC at any given level of opel is imp: o note that as the airline
y keeps expanding their scale, they may i ng run average cost after

.. Levels
L3 Answer explains at lea
2o | well in the context of al
. |:clear link made to cost a
" 1-used -consistently to su
answer is able to explair

Marks
7-10

at the IEOS can be enjoyed
only with expansion o rm and thus, uses relevant
example of such exj in the context of an airline
company. Diagram for IEOS has been used to support
the explanations.

L2 Answer explains some reasons/sources of IEOS but they 5-6
. may not be always supported with examples in the
L 09732/02/Prelims /12016 Mark Scheme
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context of an airline company. Te reasons of IEOS are
clearly linked to the cost advantage enjoyed by a
company. The answer may not have made explicit
reference to the expansion of an airline company to
explain the IEOS. Attempts made to draw a diagram to
support the explanations. '

L1

Answer lists different reasons/sources for IEOS without
adequate explanation in the context of an airline industry.
The reasons for IEOS are not clearly linked to cost
advantage enjoyed by the co y. The answer may
contain some error and di has not been used to
explain IEOS. ;
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b) Given the market structure that Singapore Airlines is operating in, discuss if the
business strategy used is the best way to survive the threats in the airline industry.
[15]

Command Words:
a)Discuss if- requires multiple perspectives
b)‘best’- requires comparison with two other strategies by using a criteria

Content:

a)'Given the market structure’- identify and justify of the market structure using
characteristics

b) ‘business strategy’ to survive- behavior of market structure (different ways of competition)

Context:
a)Singapore Airlines
b)current threats

Approach

-ldentify and justify the market structure that Singapore Airlines is operating in and analyse
the current threats

+ldentify the ‘business strategy’ based on preamble as price competition

*Set criteria to decide what is ‘best’

*Thesis: Given the market structure, price competition is a good strategy to survive the
threats based on the criteria — show how the strategy helps Singapore airlines to meet the
criteria and respond to the threats

-Anti-Thesis 1: Given the market structure, price competition is not a good strategy to
survive the threats based on the criteria- show how the strategy may actually worsen the
problems for Singapore Airlines

*Anti-Thesis 2: Given the market structure, other strategies are better to survive the threats
based on the criteria- show two other relevant strategies that can be used by Singapore
Airline

*Synthesis

Introductlon : ' .
The market structure that Slngapore Airlines. (SIA) is operating inis o
to the high BTE in the form of huge start of ‘cost especually -
fleets of aircrafts. This results to very fe Omlnant firms.i
sngnlflcant market share. This allows the firmsto enjoy long
However, with the entry of new competltors in the market’
the market share of Singapore Airlines may. fall and due
including the low cost carriers, PED>1 [AR may- fall and bei
with this new threat of competition, over Aime, SIA may face
revive their growth and profit, SIA is engagmg is price-cutting s
price competition. Profits can be defined as the excess of tota
It is important to examine if this strategy is ‘the best strategy for:
main goal is to effectively revive and sustain their. profit levels.

oligopoly. This i |s due:f
is of investing in the
arket who capture a
N supernormal profit.
mentioned in the preamble,
ailability of substitutes
ore price elastic]. Thus,
declining profit level. To
rategy which is a form of
e over total costs.

; assuming that their

Note: identification and explanation of the-industry as a monopolistic competition market
structure is also accepted but the analysis must match the identification
Body
Thesis: Given the market structure price competition is a good strategy to survive the
threats based on the criteria set

¢ SIA can give discounts to attract more customers to avail their services. The fall in

price should increase the quantity demanded of their services. This is especially if
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SIA is engaging in predatory pricing to keep threats of competition from Emirates
and low cost carriers at bay.

It is important to note that given that PED<1 in the oligopolistic market structure
that they are operating in, the total revenue may fall initially as quantity demanded
rises less than proportionately, however, as they reduce substitutability and regain
their market share, they can increase price to increase total revenue. Temporarily,
they may be earning sub-normal profit, but as they may have accumulated long run
super normal_profit, they may be able to survive the short run fall in profit levels.
Moreover, the IEOS enjoyed by SIA is significantly large as mentioned in part a,
thus, they may still be able to break even while charging lower prices.

Thus price-cutting strategy may be effectlve for SIA especially to preserve market
share and revive profit. This is true assumlng that the price cuts are not matched
by the rivals. : :

Anti-Thesis 1: Given the market structure prlce competmon is not a good strategy to
survive the threats based on the crltena% gt

SIA is operating under ohgopollstlc market structure as explained before. This
means there is existence of mutuallv lnterdependent behavior. Thus, a price-cut by
SIA may be followed by Emirates for the long haul flights and by low cost carriers
for the short haul flights, espeCIaHy on routes served by both of these airlines. They
can do so.by announcing special offer price or discounts. Due to the presence of
few dominant firms, there is a presence of very high degree of rival consciousness,
whereby, an increase is price is‘not followed by rivals but a reduction in price will
make the rivals to follow suit. This makes the PED<1 below the price-output
combination decided in the market. And a fall in price will only increase quantity
demanded less than proportionately as competitors are also offering lower prices.
Thus, as SIA cuts price and other rivals follow, there will be an aggressive price
war which ultimately results to lower total revenue of all firms [as fall in price leads
to less than proportionate rise in quantity demanded, total revenue falls]. Assuming
total costs don’t change, this will lower the profit level of SIA.

Due to the characteristic of mutual interdependence, prices tend to be stable in
oligopoly and so, it may not be a prudent decision for SIA to engage in price- cutting
as it is hot a sustainable policy and may not be effective in reviving growth/profit.

Antl-TheSIS 2 Other strategies’ (non pnce competltlon) mav be better for SIA to revive: thelr,
growth. and profit. :

'[engagmg in advertising to create brand floyalty amon

-, -advertisement costs, profits will increase. Such bran
BTE making PED even more inelastic, and_help them to preserve market share
: _a_nd long run profit. This is also a feasnble strategy- conS|denng the accumulated

, Advertnsmg (or product dlfferentlatlon by adding m-fhght services like free WiFi

ci) could be a better alternative. SIA is already very
‘comfort. Howev

known for its safety, on-
they can still continue
cUstomers. This helps to
uch that they can charge
rise in TR exceeds the
loYaIty will also increase the

ncrease AR and make PED<1 (an XED<1 as
higher price to increase TR. A ming that -

:run super normal profit.

: BQSIhess partnershlp with other elrlmes and expandlng reglonal network to tap”’

on'to the ‘growing .economics in the nelghbounng economies may be a possible
solution (for example, AirVistara in India). This will help them to increase AR and
increase profit (Assuming rise in TR "> rise in cost). It is safe to assume that
expanding into the regional ma s, especially the developing ones, will help them
to also enjoy lower labour cost:required to run the various services of an airline
company. Thus, overall profit levels will increase.

Introducing low cost services especially for short-haul travels [to compete with
the low cost airlines] like Scoot or Silk Air to achieve market share even in the low
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cost segment and increase AR to increase profit. By such diversification, they can
also ensure that they are more equipped to at least maintain their profit level, even
if demand falls in the market they have traditionally served.

Cost Reduction can also be a feasible strategy. Considering the dominance that
Singapore Airlines has had, it is expected that they have past supernormal profits
that they can use to invest in more fuel efficient aircrafts. This will help them to
lower the fuel cost and as Profit= TR- TC, lowering of their total costs, will also help
them to increase prof it. However, as TR is. already expected to fall because of the

profit, but may only allow to at least not reduce the profit significantly or maintain
the current profit levels. SR

Synthesis : Price-cutting is not the best strateqv over long run as it may lead to a price
war, given the nature of the industry. However; if they really want to engage in price war
temporarily, they may have to cut cost smultaneouslv to be able to survive the price-war.
Given their IEOS, it may be feasible for SIA to-use price-cutting as a strategy for a short
period of time. However due to the nature of the industry non-price competition may be

more preferred over the long run.

LORMS

Levels

Descriptors Marks

L3

A well balanced answer that presents different perspectives to analyze | 9-11
if price-cutting is the best strategy and compares it to other strategies.
These analyses are clearly grounded on the aim of reviving growth and
profit in the context of the market structure identified and the threats
faced by SIA. Different strategies analyzed are linked to either TR or TC
to explain the outcome on profit. Examples have been used to support
the explanations. Diagrams have been used to aid the explanations.

L2

[ comparison made to other strategies. .

Answer attempts to present different perspectives to analyze if price- | 6-8
cutting is the best strategy in the context of the market structure

growth’ andlor proflt of SIA. As a result, there was nol/inadequate. hnkg': e
made to TR and TC : in the analysrs There may not be enough |

Some attempts have been made to use examples

:_Answer is largely one-sided wrth lnsufﬁcrent analysr
| strategy. These analyses are not based upon any it
-| 'structure and/or a specific objective of. SIA As a res 1
+{-and/or TC has not been made.

'on,_;"price-cutting 1-5
ntified market
the link to TR

Examples have not been used to suppert the explanatlons

E1:

: Stand with some justification

E2: 34"

A well-justified stand.

9732/02/Prelims /2016 Mark Scheme




23

Question 4

Assess the importance of external stability in achieving an improvement of standard of living
for different economies. [25]

Command | Assess: evaluate the significance of external stability based on different

Word criteria and relative to other factors
-} Content Macroeconomic Indicators and Problems Standard of Living (Material &
1 Required Non-Material) :
| Context “different economies”

e.g. Small & open versus Large & ss open
Developed versus Developing

Approach 1. Candidates should first establish what external stability implies about
the BOP and exchange rates and its impact on SOL.

2. Before T/AT arguments are made candidates should come up with
possible comparisor s of. lfferent economies’ as suggested above.

3. TIAT arguments will hence be made based on criteria such as the
characteristics and nature of different types of economies. i.e. each
point should be contextuahsed to the type of economy and linked to
standard of living. .

4_ T/AT arguments should also distinguish between material and non-
material SOL. -

5. Overall synthesis made

Introduction
Establishing external stability w.r.t indicators

Internal stability: low inflation rate, sustainable rise in GDP, sustained periods of low
unemployment

External stability: no excessive BOP deficit/surplus leading to stable exchange rates
Standard of living: Material SOL in terms of ability to consume g/s; non-material SOL in
terms of inequality, quality of education and healthcare etc.

Different economi_es_:y developing/developed; small & open VS large & less open

n economic growth =>
come levels and hence

1. Dep _ c:atlon => cost: push mflatlonary pressures -> decrease |n AS due to: mcrease
in COP =>"Undérmine the confi dence of foreign investors; capital-flight ->negative
impact on economic growth, employment income and hence SOL

2. Appreciation => erodes export pr e:competitiveness -> negative impact on economic
growth, employment and income and hence SOL.

3. Ideally neither sharp nor sudden depreciation or appreciation to prevent negative

impact on economic growth and hence SOL
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4. Currency volatility is harmful to external trade and investment — Exposes traders,

investors, tourists and travellers to too much exchange rate risks and uncertainties ie
sudden and unexpected losses due to unfavourable exchange rate movements.
For example, a SG exporter receiving payment in a foreign currency (e.g. US$) could
easily end up with unexpected losses due to adverse currency movements when
converting his sales proceeds into the domestic currency. Assuming the exporter
marked up (profit-margin) is 10% in SGD, a depreciation of the foreign currency
proceeds e.g. US$ by say 10% would have wiped out the entire profit-margin ->
Negative impact on economic growth and therefore SOL

Overall: Stability increases predictability =% stes investments, resource allocation

decisions and therefore sustainable growth:

‘ _/ént to small and open economies
shocks. Trade constitutes more than 100%

Thesis Point 1: External stability is m
SOEs such as SG is more vulnerabl
of GDP. The total trade to GDP rati

Hence ensuring external stability is® or- priority to protect the economy from external
shocks. For e.g., SG ensures exchange r te stability through a gradual appreciation of the
SGD to curb imported cost push inflation, while ensuring export competitiveness is not
eroded over time as the economy moves up the value chain, producing exports whose
demand is price inelastic. External stabrlrty allows an increase in (X-M) and FDI and hence
increases in AD and NY, employment and material SOL in the LR.

Anti-Thesis Point 1: External stability is less important to large economies
In contrast, USA has a relatively large domestic sector or consumption to drive growth and
act as a buffer to insulate the economy from external shocks. In the USA, consumption
constitutes 70% of GDP. E.g. an appreciation of USD may lead to a fall in (X-M) assuming
MLC holds. However, this can be offset by an increase in domestic consumption. Likewise,
reduction in FDI or capital outflows can be offset by an increase in domestic I and C (vra a
fall in i/r due to capltal outflows) : : , : e o

Hence the macroeconomlc pnonty in Amerlca is to focus on : stlmulatlng therr dom

'is able to withstand external sh"”
n others, in a giobalised world
f growth for most economies ar , y be totally immune from
pact of external shocks. However large economies are able to offset the impacts
fro external shocks by rebalancing its economy to rely on internal demand, whereas small
econo n es rely more on external stability to mmlmlse impacts' of external shocks.

Thesis Pomt 2: External stability is more lmportant to developed eco mles
Most developed: economies are faced with: the- following trends ' v
e The demographlc of an ageing population and/or
e Production situated at the top of the supply chain/value add chain and hence relying
on developing lower-cost economies for factor inputs/intermediate goods.

External stability is important as with an ageing population, domestic demand will decline
and become a less significant engine of growth. External stability in terms of trade flows and

9732/02/Prelims /2016 Mark Scheme



25

exchange rate stability will ensure a sustainable export led growth and hence an increase in
NY, employment and material SOL.

Producers in developed economies are exposed to exchange rate risks as most of their
factor inputs or intermediate goods are imported. Exchange rate stability will ensure less
volatile changes in costs of production, which can impact investment decisions, AD, NY,
employment and material SOL.

Anti-Thesis Point 2: External stability is less important to developing economies
Developing economies may have to accept some: volatility in its BOP as the economy
. .develops through foreign aid, international loans - and imports of capital goods. Developing
countries may have to import a large amount ital goods in the initial stages of its
development, leading to BOP deficits. Altho ' may be offset by inflows of foreign aid
and international loans, these have to be. repald- e\ entually, leading to outflows in the current
account. Despite this volatility, the increase in- quantltquuallty of capital leads to increases in
" AS, increase in domestic and forelgn consumpt|on also leads to increases in AD. NY,
~ employment and material SOL i mcreases '

Anti-Thesis Type 2: External stablllt ',may not lead to improvements in non-material

SOL o

1. Focusing on external sources'of growth via trade and FDIs might be harmful to
attaining a clean and liveable enwronment

In China, Negative externalities like pollutlon have brought harmful effects to the quality of
the environment because it is the so-called “factory of the world”. Over the last decade
China’s key focus was on rapid economic growth driven by exports and FDI inflows. Whilst
materially it can be said the SOL in China has jumped significantly. For instance, China has
grown to become the second largest economy in terms of size of GDP. However, it came at
a heavy price in terms of high level of pollution from factories and motor vehicles.

e.g. Out of the world’s 20th most polluted cities, the top 16 came from China. Not uncommon
to see many parts of China covered by smog including Beijing. Rapid urbanization also
brought harmful effects on its environment e.g. building of the 3 Gorges Dam to provide
electricity. It is not external stability that determines the long run improvement in SOL but
rather, the adoptlon of growth strategies that: are .green or sustalnable that- determmes the
impact:on the environment and hence lmpact on non -material S

_ ocusmg on external sources of growth may wors, material SOL because it

‘accentuates income inequality.

tract foreign talent and
and HK have one of the
and worsening income
ich could eventually derail
inequality has risen due to

-t can be argued that in the case of: Smgapore lnc,,m
) rellance on the import of cheap. forelgn ‘labour, whlch 0. depressing wages of
. unskilled labour. The constant need to move up the value chai r_der to maintain export
competmveness :also meant a bias towards sknlled labour, whose: wages have risen faster
" than unskilled labour. Lo

Hence, the priority is to focus on reducing income disparity through the use of government
transfers (e.g. workfare income supplement subsidies for lower income for health-care;
housing etc ) and tax (e.g. more progressive income tax. In SG, studies done have revealed
that 80% of income taxes collected comes from the top 20% of income earners). Mini
synthesis/ evaluative comment: As explained in Thesis Point 1, external ability may lead
to LR increases in material SOL for small and open economies, but may be derailed by
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decreasing non material SOL due to rising income inequality. Negative side effects of relying
on external sources of growth will have to be prevented or mitigated in order to sustain long
run improvements in SOL.

Overall synthesis

In a globalized world as more and more countries tap on external sources of growth by
opening up their economies to trade, FDI and inflow of foreign talent and manpower,
invariably their growth and hence SOL would be more vuinerable to external instability or
shocks. Therefore, it can be said that the importance.of external stability will increase.

However, external stability in itself does not: > that the fruits of growth are shared
equitably between foreign and local firms/resident killed/unskilled labour. An improvement
in SOL is only sustainable if governments are aware of the trade-offs made when deciding
its growth strategies — between different segments: of the population and between material
and non-material SOL — and devise. polrcres' ( prevent or mitigate such negative side
effects. :

Mark Scheme -

L3: Excellent and well-balanced analysis showmg good understanding of the requirements of

19- the question.

21 Demonstrate ablllty to integrate the 3 key issues clearly into a coherent structure, hence
developing scope in terms of different.economies AND different aspects of external
stability AND material vs non-material SOL.

15- Able to focus clearly on the link between external stability (both exchange rate and trade

18 stability) and (material and non-material) SOL.

Adequate scope and depth. However, lacking in terms of good overall structure.
Contextualisation of different types of economies is appropriate but mundane.

L2: Able to focus on the link between external stability and SOL with much more depth and

13- clarity. However, discussion is incomplete which lack of scope or some major issues

14 omitted.

Anal szell developed but one sided OR: two sided but underdeveloped S !
 are based on trade instability AND ‘exchange rates lnstablllty linked to eltherz- '
SOL OR non-material SOL but not: both
nts are based on trade mstabnlrty OR exchange ';rate instability linked to both
AND non-material SOL. . :
10- ocus on the link between external stabrhty and OL. however lacking generally
12 ?
is is one sided such as either focus is ‘on trade instability or exchange rates
it but not both and focus is on materlal SOL or non- matenal SOL but not both.

L1: Weak~:hnk vbetween external stablhty and SOL

6-9 For example, some reference to external: stablhty and SOL, but Iacklng in coherence -and
depth. Too sketchy and superficial

1-5 Mostly irrelevant or out of focus — unable to link external stability to SOL. Major
conceptual errors.

E2: Judgment supported by analysis

3-4 Pretty strong conclusion demonstrating clear understanding of characteristics/nature of

9732/02/Prelims /2016 Mark Scheme



27

economies and material/non material SOL.

Unexplained judgment

Conclusion that is either missing or not supported by analysis. Unexplained stand.
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Question 5

(a) Explain what determines the effectiveness of fiscal policy in achieving economic growth
in Singapore. [10]

Question Analysis

Command Word | Explain what — candidates will need to identify and elaborate in
detail certain factors

Content Effectiveness of fiscal poli reasing national income

Context Singapore

n in detall three factors that will
cal policy in increasing national

Approach Candidates will need
affect the effective
income in Singapor

Since the conte"
effectiveness of fi al

pore, the key factor limiting the
_ *— the size of the multiplier — must be
explained as one of 1| ctors. The other two factors can be any
reasonable factor would foreseeably affect the extent to

which national income:can be increased in Singapore.

Suggested answ_er

Introduction | Fiscal policy is defined as the use of either government expenditure (G)
: or taxation (T) to influence the level of economic activity in an economy.
An expansionary fiscal policy can increase national income and thereby
achieve economic growth. This can be done by either increasing G or
decreasing T — when G is increased, for example, by spending on
improving infrastructure in Singapore, such as the expansion of the
Downtown Line, this will increase AD since G is a part of AD. Similarly,
when income and corporate taxes are reduced, this increases
dlsposable mcome for consumers, as well as after—tax proflts for firms,

'AD

n the diagram, this
hrough the multiplier
ment, or firms, leads
dditional income for
increases from NY

When AD increases from-
results in a multiplied incre
process — where the initial :
to additional rounds of sper
other parties in the econom
to NY'. :
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GPL
Y

However, the effectiveness
which I will explain in tl
the amount of spare
investor confidence. -

scal policy depends on several factors,
st, the size of the multiplier; second,
available; and finally, consumer and

[ Body

This is because with a

In Singapore, the effectiv ne
size of the multiplier.:

-of fiscal policy largely depends on the

The multiplier (k) shows'the relationship between an initial change in
spending and the final n GDP, and is influenced by the marginal
propensity to withdraw.: (MPW), which comprises the marginal
propensity to save (MPS), the marginal propensity to import (MPM), as

well as the marginal propensity of taxation (MPT).

The larger the MPS, MPM and MPT, the smaller the multiplier, and the
smaller the final effect on national income (effect).

- that with every
additional round of spend nitial spending (for
e.g. due to an increase i ncome received is
being passed on to creat . Therefore, the final
increase in national income if the MPW were

smaller.

In Singapore, the govern
policy to influence AD, inco
marginal propensity to imp:

is is due to our high
of resources and

any autonomous change m.
small change in equilibriu

due to fiscal policy will only lead to a
income levels.

Therefore, the size of the multiplier determines the effectiveness of
fiscal policy in achieving economic growth in Singapore.

Furthermore, the availability of spare capacity the economy also affects
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the effectiveness of fiscal policy in Singapore.

Spare capacity refers to the availability of unemployed resources. An
increase in AD as a result of an expansionary fiscal policy will lead to an
increase in NY only if the economy has sufficient spare capacity.

Between a and c section of the AS curve, firms are operating closer to
capacity. A rise in AD (e.g. from AD2 to AD3) increases output and
employment with general price levels starting to rise.

Increasing output may require that:less efficient standby machines and
plants are used and less efficient workers are employed. Thus, the cost
per unit of additional output increases due to the utilisation of less
efficient resources. Therefore. pnces must rise to act as a signal for
firms to increase supply

The AS curve is vertlcal from pomt ¢ to d indicating the economy has
reached full employment S

Over this "classical” range'}':'any increases in AD (e.g. from AD3 to AD4)
will not lead to a rise in real GDP as nothing more can be produced.
The excess demand will cause the general price level to rise with no

increase in output.

General Price
Leve!

A
P3

Po

National income

0 Ya Yf >

here it is likely that
S curve, given our

This is particularlvy true in thefCOhtext of Sing :
we are operating at the intérmediate range*
tight labour market and limited resources ava

Therefore, the avallabllnty of spare - ca‘ cnty determines the
effectiveness of fiscal pollcy in achlevmg, 'economlc growth in
Singapore. :

Finally, consumer and lnvestor confldence al;
of fiscal policy in achlevmg economlc growth'i

|s because |f expansmnary fiscal pohcy is+ ucted through the |-
_ ome and corporate taxes, this may not ne _y:’lead
e in consumptlon and investment levels sinc
tempered by consumers’ and investors’ expectations. If consumers and
investors are less confident as they have a poorer future economic
outlook, they may choose to reduce consumption and investment even
if income and corporate tax rates were lowered. This will lead to a fall in
AD and subsequently a fall in NY.
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For example, as a result of the 2008 sub-prime crisis that originated in
the United States and ultimately caused a recession in Singapore in
2009, it could be said that consumers and investors may be more wary

and uncertain about Singapore’s economic future.

Singapore.

Therefore, consumer and investor confidence determine
effectiveness of fiscal policy in achieving economic growth in

1 Conclusion in summary, there are in total th

show how they determine the e
economic growth in Singapor
Singapore government’s decisio

In part (b), we will explore how ot
decisions in Singaporef S

NB: Any other relevant facto

“factors that have been explained to
eness of fiscal policy in achieving
iese factors may influence the
whether to use fiscal policy.

r'factors may also determine policy

hat may affect the effectiveness of FP in

LORMS

increasing NY are also acceptable

L3

Candidate is able to identify three factors (including size of muiltiplier)

that will affect the effectiveness ‘of:fiscal policy in achieving economic

growth in Singapore. The explanations of these three factors in affecting
effectiveness of FP are detailed and supported with relevant and well-
referenced diagrams.

Examples are used in support of factors highlighted, and these
examples tend to be current, relevant, and useful.

L2

Candidate is able to identify two factors (including size of multiplier) that
will affect the effectiveness of fiscal policy in achieving economic growth
in Singapore. However, the explanation of these factors in affecting

effectiveness of FP may be brief, undeveloped and/or inaccurate. There
is some use. of diagrams, although- they may not be well- referenced

idate may have merely listed factors ‘faffectmg effe: veness of FP.

actors may or may not be relevant;.lnééanswerln&t__; €. questlon
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(b) Discuss whether conflict in macroeconomic objectives is the most important factor in
determining policy decisions in Singapore. [15]

Question Analysis

Command Word | Discuss whether — candidates will need to explain multiple perspectives

Content Conflicts in macroeconomic objectives, other factors that affect policy
decision making in Slngapore

Context Singapore

Approach * Thesis: Conflict in ma_ ‘economic objectives is a factor in

determining policy decisi : Singapore. .
» Anti-thesis: Other factors also affect policy dec:snons in Singapore.
* Synthesis: Justify whick e most important factor in determining

Full answer

policy decnsnons m‘Smgapore using an explicit criteria.

Introduction

decisions about which economic policy to use,
upply-side policies, in order to achieve the four
s:of high and sustained economic growth, low
ent ‘,-and a favorable balance of payments.

Governments have to
such as fiscal, monet
macroeconomic obje
inflation, low unemplo

However while all gove r ments have these four aims, it is unlikely that these
aims can all be achieved: by any one policy at the same time, as the use of
one pohcy may result in trade-offs between macroeconomic objectives.
Therefore, in policy decision-making, governments may have to consider the
trade-offs involved before deciding whether they should or should not go
ahead with that policy. This makes conflicts in objectives one important factor
in determining policy decisions in Singapore.

However, there may also other factors that determine policy decisions in
Singapore, and these include: current economic conditions, as well as the
nature of the economy :

In my essay, . o wull show how all of these factors may determme pollcy
decisions in Slngapore before ranklng them to. explam which factor is likely to
be the most important in the Singapore context, using a criteria.

| building infrastructure to
| from AD3 to AD4 and hence an increase in real NY from Ya to Yf. As more
resources. -are employed, the economy operates closer tofull employment Yf.

Conflict in macroeconomic  objectives is -a:factor in determining policy
decisions in Singapore. S G

This is so for the case of fiscal policy. Due to.conflicts in the objectives of full
employment and price stability :when fiscal- policy is used, the use of
expansionary fiscal policy tﬁén:_jdstyd- be avoided.

This is because when there is an increase in G as governments spend on

t economlc actlwty, there is an increase in AD

However the economy wxllgalso face demand pull inflation from P2 to P3 as
demand rises and bids up costs of factors of production, as seen in the figure
below.
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General Price
Level
A
Ps I
P2
ADs
Po
: o National income
o »

Ya Y

As mentioned earlier in part: (a) > Singapore has limited spare capacity, it
is likely that Singapore W|ll face th conflict.

Therefore, if the Slngap“re ‘go‘ ment wants to achieve snmultaneously the
objectives of full employment and price stability, it is likely that they will avoid
using fiscal policy. Hence the conflict in objectives does determine policy
decisions in Singap S

a$e of exchange rate policy. Due to conflicts in the
vorable BOP and achieving price stability when
iated, depreciating the exchange rate is avoided.

This is true also for tk
objectives of achievin
the exchange rateis d

In the event of an unfavourable balance of payments (BOP) due to a deficit in
the current account, currency depreciation can help to resolve the situation.
This is because a depreciation would help decrease the price of exports in
terms of foreign currency and increase the price of imports in terms of
domestic currency.

As export price competitiveness increases, the quantity demanded for exports
and hence export revenue increases. At the same time as imports become
more;expensive, consumers switch to purchasing domestic:goodsﬁ. stead.

increase, as seen in the dlagram-rbelow T;US;ﬂa»‘healthy BOP is achieved at
the expense of price stability. R

W LA TUBG JUDIUL LUuneue 9732/02/Prelims /2016 Mark Scheme




34

GPL
N

> NY

:apore where imported inflation is likely to
jates, since we are highly dependent on
at we have close to zero natural resources.
. reluctant to depreciate its currency even when

happen if the curr
imported factor inpu
This explains why Si
its BOT is worsening
Hence, this shows thai
in Singapore in term

ict in objectives does determine policy decisions
way a policy is carried out.

Anti-thesis

.:Smgapores past reserves.

: -’Whlle the expansnonary fis

| Singapore’s small'size and
' basic necessities and ra
'produce solely for the d

However, other factors

also determine policy decisions in Singapore and are
likely to be just as import

it as the conflict in objectives.
One factor could be the current economic conditions faced by an economy.

As mentioned earlier, the 2008 sub-prime crisis that originated in the United
States and ultimately caused a recession in Singapore in 2009 and spurred
the Singapore government into action by releasing a resilience package that
increased government spending. It was determined that the unprecedented
severity of the global financial and economic crisis justlﬁes a draw from

|n onﬂlcts in objectlves as
the |mmed|ate economic

CYy may resu
mentioned earlier, it is i i )
concerns of a faltering w
the concerns of confhctln
price stability.

Another factor determinin
open nature of our econ
rate policy, have given u
rate policy) and is also fo

limit economic growth.

esult m a very open tréde pollcy W|th few
import restrictions.

Singapore’s total trade (X+M) is about three times that of GDP. Given
Singapore’s small size, it does not influence world prices and is a price taker.
Producers and consumers in Singapore have to accept prices dictated by
global supply and demand conditions. As a result, the exchange rate directly
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affects the prices we pay.

In addition, the direct effect of exchange rate fluctuations on our inflation
works through the high import content of Singapore’s consumption and
production of goods and services. Managing the exchange rate is thus the
most effective way of maintaining price stability in a small, open economy like
Singapore. It is relatively controllable by the central bank and bears a stable
and predictable relationship with the objective of monetary policy, which is
price stability.

The importance of external demand also means that traditional monetary
policy instruments such as money supply or interest rate, which largely affect
domestic demand, have a smaller influence on the overall level of economic
activity and, therefore, lnﬂatlon in Smgapore

With a small domestic: market and being highly export-oriented, Singapore is
more dependent on external rather than domestic demand. If the Singapore
dollar were to apprecnate too quickly, her exports and hence AD would
plummet, hence potentlally triggering a recession.

Given Singapore’s hlgh dependence on both imports and exports, it makes
more sense for MAS to: manage Singapore’s exchange rate rather than
domestic interest rates-as the former has a greater impact on maintain
macroeconomic stability compared to the latter.

Therefore, the decision ultimately to use exchange rate policy, and how we
use this policy is more affected by the nature of our economy, rather than the
conflicts in objectives. Maintaining a gradual and modest appreciation of the
SGD may have a trade off between price stability and a favorable balance of
payments, but the nature of our economy dictates that no other policy can
help to maintain price stability in Singapore, and therefore this is an important

Synthesis .. I:

factor in determining policy decision.
criteria used to judge which factor is the most important- in. determlnlng
hcy deClSIonS would be how relevant the factor is:t ngapore context

economic objectives is not
ecisions in Singapore. The
mportant factor.

In this aspect, it'is likely that the conflict in mz
the most important factor in- determmlng po
nature of the Singapore economy may be the

This is because the nature of our economy
use of certain policies — even if the use of t es
in objectives, it may be less: lmportant glven t
economy has already dictated the use of & nge rate policy as the main
policy instrument, and that other policies such"j _the interest rate policy (even
if it avoids the conflicts in objectlves) is not.f __"S|ble in the context of

mines the feasibility of the
olicies may result in conflict
he nature of the Singapore

LORMS

j MSlngapore

L3 Answer is two-sided. Candidate is able to demonstrate how conflicts in | 9 — 11

objectives as well as at least two other factors may affect policy
decisions in Singapore.

Candidate is able to explain in detail how conflicts in objectives may arise
with the use of certain policies and therefore affect policy decisions in
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Singapore. These explanations are well-developed and supported with
diagrams which are useful in illustrating the conflicts.

Candidae is able to explain in detail at least two other factors that affect
policy decisions in Singapore. These explanations are well-developed
and supported with current and relevant examples set in the Singapore
context which are able to illustrate how these factors affect policy
decisions.

L2

Answer is two-sided. Candidate is able: tox demonstrate how conflicts in
objectives as well as one other factor may affect policy decisions in
Singapore. . ]

Candidate is able to explain how
use of certain policies and the
These explanations are done
have been well-developed..
support of answer.

objectives may arise with the
- policy decisions in Singapore.
egree of accuracy but may not
ams are present but not used well in

Candidae is able to explai
Singapore. The explanation
supported with current an
context.

r factor that affect policy decisions in
similarly brief and may not have been
levant examples set in the Singapore

L1

Answer is one-sided. Candidate may have only considered how conflicts
in objectives OR other factors affect policy decisions in Singapore.

The explanation of either factor is very brief and undeveloped. There are
no diagrams illustrated nor examples used in support of answer.

Low L1
Answer may be largely irrelevant. Any relevant points made tend to be
incidental rather than purposeful.

E2

There IS a_;ustnfled stand provided and the justification is based on_an
‘criteria to determine the: ‘most.important factor i in affectmg pollcy
ons’in Slngapore : .

ET-

ere is a stand made but this m 'y have been unjustlfled

There is a justified stand provnded butk the Justlflcatlon lS mostly rehashed

based on what has been presented 'ln'the answer. -
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Question 6

To what extent is there a greater need for smaller countries to be globalised? [25]

Command | ‘To what extent” — provide thesis and antithesis on the issue and making a

words: judgement of how much it is valid.

Content: | “greater need... to be globalised” — International economics (globalisation).
1 Context: “Smaller countries” — countries of varying sizes.
| Approach: 1. Reasons for greater need for. smaller countries to globalise.

2. Reasons that smaller countrie méy be harmed when globalised.
3. Reasons for greater need for larger countries to globalise.

4. Reasons for globaIisatloﬁ‘..ftihatf'fi»'s. ndependent of size of county.

| Outline of answer:

.| Introduction | Define globalised, overvnew of essay

Paragraph 1 | Greater need for smgller countnes to globalise — Increasing export
revenue

-| Paragraph 2 | Greater need for smaller countnes to globalise — Decreasing cost of
production and diversity of sources of resources

Paragraph 3 | Greater need for smaller countrles to globalise — Higher diversity in goods
and services

Paragraph 4 | Smaller countries not necessanly have a greater need to globalise — Gains
not necessarily associated with size of country (Principle of CA)

Paragraph 5 | Smaller countries not necessarily have a greater need to globalise —
Smaller countries may lose out in globalisation

Paragraph 6 | Smaller countries not necessarily have a greater need to globalise — Some
large countries have more to gain from globalisation

Conclusion Stand and justification as to the extent smaller countries have greater need
to globalise.

Note: For this question there is an explicit need to define what ‘smaller countries’
II”as to compare smaller countrles with Iarger countrles, partlcula 7]

Introduction ; 2
Globalisation refers to the increasing lntegratlon and nt »dependence of the world's
f iomies arising from increased trade and greater international mobility of factors like
apital,. labour and enterprise. Countries were getting more. globallsed but the recent trend
that some countries, especially the larger ones, tend to move away from
glo allsa ion. This essay will explore the extent to which smaller countnes have a greater
need to: globallse compare to larger countnes

Thesis
1) Small countries have greater need for globallsatlon to increase export revenue

There is greater need for smaller countries to globalise to increase their national income—
through export revenue. Small countries have smaller domestic market/demand compared to
larger countries. Globalisation allows small countries to tap into the world market for their
exports. With the greater market, there will be more people buying the products of a smaller
country thus higher income for small countries due to contribution from exports. E.g.

Slngapore glven a population size of about 5 million, can tap into markets in other countries
U o Q720N IDralivne IO010 RA~rl CA bl e
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that are many times larger than the 5 million people market. With reference to the diagram
below, assuming that ADO (AD=C+1+G) represents the AD of a small country that was not
globalised, the income level will be at YO. With globalisation and export revenue, the AD
curve will be at AD1 (AD=C+I+G+X-M) which will increase the national income to Y1. Thus
an increase in national income with export revenue through globalisation.

General
Price
Level
AS
P
AD,
“NiAp,
: Real
Yo Y1 GDP

However, with globalisation there are also imports which will substitute domestically produce
goods. Citizens in smaller countries may buy imported goods in place of domestically
produced ones, and if the amount is large enough, it may reduce domestic C so much that
the increase in X is negated.

reducing the price. E.g.
e down the cost of labour
DDSS diagram]

them to reap EOS thus
their FOP in bulk thus
er domestic market size,

The increase in FOP and reduction in G
increasing NY. When AS.increase, AS ct
result in GPL falling from PO to P1 and NY

sincrease the ASthus ‘reducing GPL nd
fts to the right from AS0O to-AS1; which will
asing from Y0 to Y1.
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General
Price
Level

Py

Py |-

Real
Yo Y GDP

3) Higher diversity in goods and sewlcee'% .

Not only there is an increase in the quantity of goods for consumption, there is also greater
diversity for consumers in smaller countries when the country globalise. Given the limited
resources available in small countries, there is also less ability to diversify the production of
goods and services. By widening the import sources, smaller countries can import different
types of goods and services to cater to different tastes and preferences. E.g. Given the land
size, fishes cultivated in Singapore are only the ones that can be cultivated in captivity, but
globalisation allows Singapore to import ocean caught fishes.

However the diversity of goods may not be peculiar to smaller countrles but also countries
thus with

untries not necessarily will ha
CA, if countries specialise in p
), and these countries embark
more. Countries have CA

i labour or land thus C

developing, thus there are also a lot for |
China |s a very large developing couni
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2) Smaller countries may lose out in globalisation

Smaller countries may lose out in globalisation because of the TOT. The distribution of gains
based on principle of CA depends largely on the TOT. If the TOT is favourable to a country,
that country will have greater gains from the exchange (i.e. they will be able to exchange
less for more). Small countries because of the limited volume in production will tend to have
less bargaining power thus may have less favourable TOT. Leading to having to produce
much more to exchange for less of other’s goods. In addition, the lack of volume also makes
small countries to be price taker in the world mark ;»thus subject to world price fluctuations.

3) Some large countries have more to gain from Iobahsatlon

ause of increased employment. When
ut insufficient demand. to employ all,

ployed in other countries because of
globalisation. E.g. countries like Banglad'esh ina, India and the Philippines have large
number of citizens working abroad. ThIS wnll-z increase their income level and improve the
BOP. : :

Large countries can also gain from globahsatlo
large developing countries have abundant labo
excess labour (unemployed labour) ‘can b

Conclusion
While it is true that large countnes can gain from globalisation, the gains for smaller
countries are more significant because _their survival depends on these gains or are
imperative to them. Therefore, it is to a large extent that large countries have less need for
globalisation.

Levels | Level Descriptors Marks
Higher | Answer is able to address question requirements of ‘to what extent’ fully 18-21
L3 Extensive use of theoretical knowledge and concepts to analyse. Good use | Marks
of examples to illustrate key ideas and is consistently done. A coherent
argument can be seen throughout the essay
Lower | Answer is able to address question requirements of ‘To what extent’. Use of | 15-17
L3 theoretical knowledge and concepts to analyse is evident. Good' use -of | Marks

examples to illustrate key ide
~'| examples to illustrate: key ideas

consistently done: Good use

nt argument can’ be seen to some™

extent.
Answer is able to address ques ements of ‘to what extent’ to some | 12-14
extent. Use of theoretical know concepts to -analyse but may not | Marks
be developed well. Some use o s to lllustrate key ideas, but not all -
are done well. A generally cohe ent can be seen.
Answer is able to address ques ements of ‘to what extent’ to some | 10-11
extent. Use of theoretical know e and concepts to analyse but may not | Marks
be pervasive or developed we  presence ‘of examples to illustrate
+1'Key ideas, largely stated only. A argu ient can be: seen but it lacks general
- | .coherence. ¥
ngher |-Answer is unable to address questlo, equnrements of ‘to what extent’; one | 6-9
L1 | sided essay. Some attempts to use ‘economic analysis, but may contain |‘Ma
‘conceptual errors. Absence of:exan ’les or examples are merely-: :
incidentally. No argument can b “and points are largely in isolation of
argument.
Lower | Answer is unable to address question requirements of ‘to what extent’; one | 1-5
L1 sided essay. No economic analysis is used. Conceptual errors are evident. | Marks

Absence of examples. Incidental points on advantages and disadvantages
of globalisation/protectionism.
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Evaluation

E2 | Evaluative comments are clearly stated and well justified using good economic 3-4
logic. '
E1 | Evaluative comments are present but not well justified 1-2
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